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Atyuyunpyting «Gplwl pwnupnd wbtnuiwl pGpGuwjuowjupiwi dwuhl» <wjuunwh
Jwlpwytinnipjub optiiph 12-pn hnnjwoh 1-hG Ywuh 16-pn Ytwnny, 54-pn hnggwoh 1-hG dwup 1-hG
ytwny, 71-nn, 72-nn, 73-pn, 74-pn, «<Lwjwunwlh {wlpuytmmpjul pynigtmwihG hwdwwpgh
dwuh(» <wjwunwlh {wlpwytinmmpjub optlph 31-py hnnpyuoGtpny.

Gpluul punuiph wyjiwqubhl npnyniy E.
1. {wuwnwwnby
1) GplwG pwnuph 2014 pyuwlwbh pymotG’
w) GywinunGtph qony’ 69,091,815.9 hwq. npud,
p) Oowfuutiph qony’ 69,491,815.9 hwq. npwd,
q) ntdhghunn (yuwunipnp) 400,000.0 hwq. npuwd:

2) GplwGh 2014 pywlwGh pymoth Jupsuywl L $nGnuwjhG dwubph GiudinunGbpG pun
dLwynpiw G wnpynipGtph” hwdwdw)G N 1 hwytjwoh.

3) GplwGh 2014 pywywGh pmigth Jupswywl L $nGnuwjhG Jwutphg hwwnlugndGhpnG pun
pyniotinmwjhG owhuubkiph gnpownwwl nuuwuwpqiw G hwiwdw)G N 2 hwybtwoh.

4) GplwGh 2014 pywywGh pyjnigbh Jupswlwl L pnGnujhlG dwubphg hwnjugmdilGbpp pun
pyniotimwijhG owhuubiph mGmbuwghnwjuwl nquuujupqiw G hwiwdw)l N 3 hwybtpjwoh.

5) GplwGh 2014 pyuwlwGh pynioth nibhghnp (ujwunipnp) hwiwdw)a N 4 hwybwoh.

6) GplwGh 2014 pywlwGh pynigth nibhghnp (Wuwywunipnh) $hGwGuwynpiwG wnpnipGhpp
hwdiwdwjG N 5 hwytuoh.

7) GplwGh 2014 pywywlh pynigth Jupswiwl L $nGnujhG dwubphg hwnjugmdlGbpp pun
pniotimwjhG owfuubph gnpownwlyul L wmlnbtuwghnwiul nwuwupqiwl hwiwdw)G N 6
hujtuoh.

8) UnyG npnpdwG N 6 hwytjwony hwunmwwnywd hwnmugnuiGhph ytpowGnidp’ pun GplauGh
Jupswluwl powGGtph L GplwGh punqupuybnwpwlh (wpwlg Gplwlh Jupsww ppowGGtph)
hwiwdwjG N 7 hwybquoh:

2. Gplwl pwnuph 2014 pyulwGh pjnigbh Jupswlwl dwuh ywhniunmwjhG $nlnhg «Uuhwlwb
pwlyh wowlgnmpjuip hpwlwlwgynn pwnupuwjhl tlpwyuwnnigyuoplbph L pwnwph YJuwjnil



qupqugiwl GhipppnidwyhG opwgpp (uwydhpwygwo jhwgnpnipymGatp)» hpwjuwiugdwl hwdwp
hwnugGb 5,948,702.3 hmqup npuy, nphg’

1) 4,924,972.8 hwqup npwy pymotmwhG dwfuutiph wGmbuwghnwiwl nquuuwjupqiwi «Uyg
owfuutin» hnnjwony.

2) 1,023,729.5 hwqup npwd’ pynigtinnwjhlG dwhuubph wmnbtuwghnwlwl nuuwupgiwG «Uj
nipwghly npuwdw) GnphGtp» hnnpjwony:

3. Onijjuwnpt] GplwGh punupuwybnhG vwhdw(l] uny G npnYwdp hwunmwnywo.

1) wnpnnompjul wwwhnjugpnipjuwli opwgpny Gwhiwwmbuqwd ownwjmpniGGtiph  gwGyp,
2whwnnilGtinh npn)dw 6 ywihnpnhyGipp U hppwlwGwgdwl Jupgn,

2) pmgtimmwjhG  dwhuubph wlnmbuwghnmwlwl puuwiwpqiwG  ppuwdw)lGnphGiph L
unipuhnhwGbph hwiwp (whiwnbujwo hnpjuobtpny hwnmjwgnuiltph ypdwlnudp’ pun unwgnn
JuwqiwybpwynmpjmGatph:

4. UnyG npnpnuiG nmidh dbe £ dwnlmd wywpumnGwlwl hpuwwywpuliwl opjwl hwonpnnn
wnwulbipnpn onn:

Grodudovh LUNULUMNES S. uurquragu
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= £ S ATao0
= e o 5 2 N
OT3UT3T»E3TV»AA AY13U»YA
E _":: = Jwpswywl pnet | $nlnuyhl pyniot
o =
1 2 3 4 5 6

1000 |AU _ 2@°UA ©2T2gastUes 69,091,815.9 69,081,815.9 38,000.0
3 ATasu

1100 |1. D28T°S8 ©1 Taide°d 7100 13,920,846.1 13,920,846.1 -
3 ATasu

1110|1.1 Taslu=ICY N3AT»i SYR3AA - &sluco 7131 4,865,133.5 4,865,133.5 -
3 ATasu

1111 | T&0=3N=3AT K2USVAY»AC T2AAST3Y T3AST0Y»Aail 4,195,401.5 4,195,401.5 -
- WY T40 B»YU»AC = RCYAGAIATYY»AC N=3U=A

1112 |PA0C N=AT NSUSYUY»AC TSAEST3Y W2 TaY»fasl 669,732.0 669,732.0 -
-wY 140 N&0C N=U=A

1120 |1.2 Taslu=ICY N3AT»A 3iE - asluco 7136 5,120,467.6 5,120,467.6 -
3 ATasu

1121 | T&lu=3N=3AT ~aE31/30Cca0Y»AC N=0= 5,120,467.6 5,120,467.6 -

1130 (1.3 ZAAZYUY»AC 0-T=-aRTU3Y T3U 7145 3,560,245.0 3,560,245.0 -
- 4fiTasY»a0Al=Y CAST2Y=36U3Y AddlEw Ta0AISY
Tx3AY»A
3 ATasu

1131 | T»03T3Y TadfAu»h 71452 3,560,245.0 3,560,245.0 -
3 ATasu

1132 |3) b303YUC w3AZTUAIU Yaf R»YU»AC, RCYAGAIAEYY»HAC 152,925.0 152,925.0 -
(Y»A=€&13E 43 NCUYST3Y) RCY=2A3haiAISY (1»031AU=3Y)
A&ilEw TasAl=Y N=0=
3 ATasu

1133 |33) BCUYST3Y RCYAGAIATYY»AC N=3U=A 152,925.0 152,925.0 -

1135 | p)<wiwybph Jwnswlwb tnwpwépntd 260pLnh, 2hGneentbbenh, 13,455.0 13,455.0 -
pwnuwpwhbwywb wy optyinbEph ybpwywrenigdw,
40A»0=0U3Y, T»AST3Y-YU3Y, 3ALCSTIY36U3Y
wluwinwbpltin (pugwrenipjwdp << optilun. i
&3NU3Y T3 T RCY2AZAA0AIRY A&l 1. 383N=3Yeiad
1»&U»fC) T3 W 3f»tad AddlEn 1. N=U=h

1136 | -) B2U3YUC T3AEST3Y T3AST04AU R»YU»fC, 12,550.0 12,550.0 -
2hGnipgnibltph, pwnwpwhbwywl wy) opynlbnh pwlniwl
AddlEw TasAl=Y N=0=h

1137 |2) B303YUC W3A=T040U &4-»ECo EUCAUY»AC ™ (T3U) 366,100.0 366,100.0 -
TE3EAWC SAWS1ASYUC T3x36é0C, CeT NSYASICY eYY1g
opjtYywinbtpnLd™ ngbkithg fudhspltinh LlN(LlqujN) Sfuwununh
SAT3LASBYUC CASOUSY AddlEw TasAl=Y N=3U=A

1138 |&) <wdwjlph nwpwdépnLl pwgopjw Jwiwrp Jugiwybnwbint 88,030.0 88,030.0 -

RaglEn TasAI=Y N=U=i




snnh MM

OT3UT3ST»E3TY»AA

SAnndwdh
M

AY13U»YA

=t ATai0

Jwpswywl pjniot

$nlnwyhb pjniob

[Eny

2

1139

1) D2U3YuC W22 T4l N»040T T3é»ECuc, e»00T31
pOwywl Ywyd hbanUwngé ULUL{puJJhU quwatph duJ[mLuOLuru
3¢TUWAC T»>W»Aa0U N»0a0 1 T3é»ECUC ™ (I3U) e»0UT=31
pOwywl Ywd henniywgdwé wypwiht qugtnh b
I»EYCT3T3Y (»0401Y»AC T3x3¢0C AddlEw TasAl=Y N=0=A

80,150.0

80,150.0

1140

¢) D3U3YUC W3A=T04l =é wic, NSYASICY éYvac,
BLI3AX3YUC, R3NasUAT E30»AC  TCx3T3E30»AC
L|Luq0wL|bnu40uJU opij(LnUbnn pwnOhpUtnp (oumOLuObnn)
E3037Y»AA A3UA 24.00-C6 N» 4 SRE3»Ea0 AddlEn TasAl=Y
N=30=3h

104,223.0

104,223.0

1141

A) B30U=030303(CY T3YAYY»ACY NSU=A313eE3Y Of "3y
U30=0C T u30303ICY NSUSIVUY»AC 13/ Tl AYr3Ye
T»Y13YCY»A &=3N»ta0 Addfn TasAI3Y N=0=h

1,440.0

1,440.0

1142

A) p30=3Y0C W3AST0AU SATSUCY - aT3%1 T»0311inkas
A&ilEw TasAl=Y N=0=h

1,601,740.0

1,601,740.0

1143

A) D3U3UYUC 3HEC CO —3é-l'3AC~)A»nC A3 TIT»Y»fi

3,760.0

3,760.0

1144

dw) <wdwjbph nnwnwdépntl (pwgwrenipjwip pwnwhb
hwdw)jbpbtnh) dwpnwuuwn twpunt (pwgwentRjwdp
»AA&I0ZICY WBUECY»AC) 12é3(a0Ala0Y CAST3Y36Y»E4d
AailEw TasAl=Y N=0=h

1,390.0

1,390.0

1145

dp) BwUandbp dbquUbnhg wwmnwumL{wO hntph
USYASITSE 3¢4613x3¢00 RaslEw TasAl=3Y N=0=34

51,700.0

51,700.0

1146

A-) 2ITAT3IBY=T0C (3030

1,000,000.0

1,000,000.0

1147

A1) p=03lYuc wEA=T0aU - WY T40 E3YAAY»fiaiu,
TA&3TY»Ma0l T>EYCT3T3Y R»0a01Y»AC T3x3éu¢
AadlEw TasAl=Y N=0=h

20,740.0

20,740.0

1148

A») D=2U=IVaG T2A= 04l N2VASICY 6YY2C T2UURT»RAUSY
~ CAm6USY AASEW TAAIBY N=USH

61,042.0

61,042.0

1149

Ay) D2(=6T3YC DIYAS&» T AAIRY NSUSYUY»AC
3YT3Y4UY»AA yCAUSICY 3YT3Ya50Y»fiaoU G- 0= - 4R T»EA
RadE=wTaAl=Y N30U=h

1,000.0

1,000.0

1150

1.4 2AA3YOY»AC UST3TSASAAUCO
13é3(a0AladYY»AC USTai0aiuco 3iE A3in31Ci
Tx3AY»f

7146

375,000.0

375,000.0

=1 ATai0

1151

Lwdwybph pneob y&wnynn wtuinwywb innipptp

375,000.0

375,000.0

=t ATai0

1152

3) g303026C3T3Y 12040AI3Y 3T - ASYo»tas, 1A=Y6
U=eCY u=03036CY»ACY TATYSTC TT33T3YY»A,
U303036C3T3Y 1T2640A3Y 3T r»Adl TS 3AT31

- [i3640UY»fasl —a+—aEadAlasYY»f, Ei=640Y»f, 460045UY»fi
Jwunwntint L yepwywbgbiwb uwwygntpjwdp
TT=33T3YY»A 3t (3U3h

75,000.0

75,000.0

1153

Uan3is3isT3y - n3e»YU3IY»nQ Ta0UCo Yar=3asT3Y
I3e3Ua0AUaoYY»n I3 3n»Ea0 Ya |'3n3I3Y I3n al
U=A0CYY»fC IaOUCo ART3AUY»AC YSE=-I»fi - 1(;UaoUY»n
T31U»kad, ~363A0A. &3 x»Y. N3V»Ea8 ~~ 1ASY6C6
u=0T=10. =4 N=0=1

300,000.0

300,000.0




= £ S ATao0
= e o 5 2 N
OT3I3T»E3TY»AA AYL30»YA
= ” > _":: = > Jwpswywl pnet | $nlnuyhl pyniot
=
o =
1 2 3 4 5 6

1200 |2. 42pTal2T20 _62@g2pUasplesd 7300 17,815,812.6 17,815,812.6 -
3 ATasu

1250 |2.5 AYA36CT Y»AUCY A3RWaY3T3Y 7331 17,815,812.6 17,815,812.6 -
LABUSRYARANY»A 60361731 T3é63T3/0U3Y 3
UST3AL3TY»AC6
3 ATasu

1251 |w) MEnwywlb pintgbihg $hbwbuwywb hwiwhwnppbgiwl 10,432,939.7 10,432,939.7 -
ulygpnibpny tnnpwdwnnynn nnunwghwlbp

1257 |q) MEuinwlwb piniebhg inpwidwnnynn Guwunwywyhb 7,382,872.9 7,382,872.9 -
hwunyuwgniibtip (untpytbghwtn)

1300 |3. 2UE ©T2gastUes 7400 37,355,157.2 37,345,157.2 38,000.0
3 ATasu

1320 |3.2 Cwhwpwdhlbtp 7412 94,464.0 94,464.0 -
3 ATasu

1321 |~ SAY» W CAST3Y AYT»AasAlasYY»fAasl N=U3Yag 94,464.0 94,464.0 -
Jwulbwygntpjwb nhiwg hwdwjGph pintob Yuwnwpynn
JwuhwOnuibbp (whwpwdhbbbn)

1330 |3.3 Ta8lu¢ T3A03T3£40A1a5YCO »T3VA5 WY »f 7415 1,203,314.0 1,203,314.0 -
3 ATasu

1331 [P3U=(YuC é»+3T3YasAlasY N303aT40 Nad»AC 636,184.0 636,184.0 -
13A03 Tx3AY»f

1333 |P2U3Y0¢ T3AE3T3Y w3210l - wViTa0 &»wasAlsy - 50,000.0 50,000.0 -
N=20U3YUC e»+3T3YAAISYA &3 T=3Y40 Na0=3U=6»Ac
T364063a3TU3Y CASTa6YUC 1CUS6 - 3Y0T40
13A03Tx3AY»f

1334 | 2 - &5lUC T3A03T3EA0AIAYC Vaswux»h 517,130.0 517,130.0 -

1340|3.4 <wiwjlph pjnigbh GYwininGbp wwpwbpatph 7421 31,536,665.0 31,536,665.0 -
UST313A314a0C06 ~ 1=3é63[a0A1a5YY»AC
U=1466450C6
3 ATasu

1342 | &» T aAIRY Ta0UCo W»03T3Y CYUYST3éE3T3RU3Y 31,358,025.0 31,358,025.0 -
USAUCYY»ACY &3 W ICAZTT=1 EC3hanatAlasy Y»Ac
CAST3Y=36U3Y I3Ee»AC yCY3Ye3Tanu3yY N=3U=3A
wtwnwywb pnipbihg uinwgynn shonglbp

1343 |Gi»Yoar e3N0=3Y =T 1»ao»iasl N=U3lyousicy 178,640.0 178,640.0 -
NCUY=SATY»AC TA0UC6 2¢3Y6 w»03T3Y WadAuC - 2Y0U3Y
U3raiorad 1363(asAlasyY»Ac T30 T=03i1al
- anT1a0abAlasY Y»AC 1CU=6 ew=26140 (- 3Y0140) 3 Tx3AY»h

1350(3.5 T3Aa3T3Y -3Y04iUY» 7422 4,001,014.2 4,001,014.2 -
3 ATasu

1351 [ T»03T3Y Ix3AY»A 3,701,014.2 3,701,014.2 -

1352 |[p=U=lYa¢ T3AFST3Y w3iA=10al CYay3T30 13646131 300,000.0 300,000.0 -
R»YU»AC, RCYABAIAEYY»AC OACYST3Y360=3Y N=303h Tx3AY»h

1360 |3.6 @aiwu»f waslA»fAco, Wad- SYuY»Aco 7431 184,600.0 184,600.0 -

=t ATai0




= - 31 ATa0
= L o 5 2 o
CI3UT3T»E31Y»NA AY13U»YA
E _":: = Jwpswywl pnet | $nlnuyhl pyniot
e =
1 2 3 4 5

1361 |1 3AE2T3Y CAZTSE3ETAUY»AC N=0=3h 1»03T3Y 184,600.0 184,600.0 -
CYUY=T=26=2T3A0=3Y USAUCYY»AC Ta0UGo
A3 T3EE3Y3TTAAIBY UGCA6Y»AC TCA=é450C0 » T2UaTT Y»f

1380 (3.8 T2ACH 3t 44 A3RTWAYST3Y 1AZUSRYAANY»A 7442 10,000.0 - 10,000.0
31 ATa0

1381 |UTCASTT,A3¢3Y - CAzT.yCuCT.3Y0." 10,000.0 - 10,000.0
Uwqdwq.hwdeUp,qan.bUp.pjmgb‘m.ph%wnu.LnUonhU.uJUguJé
-asloc (NCUY=ST3Y UCcad T3U 4 YIaAST3Y 3T Cr
aN=v1ce=0640) Ci=6.” 1A=0.0Cca0. TSACTSEISEE»AC
$hlwlu.hwd.hwdwybph pntob unwgywé dniuinpbp®
npwdwn.wpwnwphl wnpjnin.

1390 (3.9 2[E »T2V45wY»f 7451 325,100.0 325,100.0 28,000.0
31 ATa0

1392 |dwpnswywb pjniobh wwhniunwihb $nlnhg pnlnwhl piniob - - 28,000.0
T=03A140 K= rT36400Y»AC6 VA nu»h

1393 |GA»YOaT " CAST3T3Y 3 3T »far 303V T=T (=S03ivac 325,100.0 325,100.0 -
pintetih dntuinpwgniwlb Gopwyw wy; GYwdntinbbn
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©8°1 204 2014 AT2T2UE ~Vateck 12682120 ©1 ual, 2UEU @28°6/0 D2TT20200U°B8A" AéT ~UatecT2UEU 12E&°5K
fasize=120 28621251920

(N=1%=3f 1A30Y»A4AT)

= . . . . =t ATai0
J;E = £|2a| 2 “lade» W BICY TSEE»AC - afl363T3Y 1383130 U3Y AVLS{nVA
e ch 5 Eﬂ pwdhOOtnh, fudptnh L nwutinh woqwonidbbpp Junswywb pniet | $nlnwiha pintek
1 2134 5 6 7 8
AU _2@°UA 12Eé°s 69,491,815.9 69,081,815.9 438,000.0
2100 |01 |0 |0 AU _p=20as6 ~UasUAE p2Us2UEU 7,776,684.2 7,108,810.4 667,873.8
T2e20a0A0as0U0°s

31 ATa0

2110 | O1 | 1 | O |aA»Yé1CA = -aAT31CA USAUCYY»A, &» 1313y 7,216,733.5 6,875,359.7 341,373.8
I'36373A40U, yCY3YESI3Y
hwpyuwpimgtuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
anco’

2111 | 01 | 1 | 1 |Gfi»Y&2CA ™ -aRT31CA UBAUCYY»h, S 3T3Y 7,216,733.5 6,875,359.7 341,373.8
T=3é=3130ail

2130 | 01 | 3 | O |LGnhwGnip pGnyph dwrwynipiniGGEN 72,050.7 72,050.7 -
anco’

2131 |01 |3 |1 Uzruwmequdh /qwnptnh/ génd pOnhwbnp panyeh 72,050.7 72,050.7 -
1=3¢3{a0AlasYY»h

2150 | 01 | 5 | O |Lhnhwlnip plnyph hwﬂnw;ﬁl] dwruyntpntboenh 326,500.0 - 326,500.0
-T47 N» 13331313y 7 YIE3- [3cY
BBES3TIYOY»A
anco’

2151 | 01 | 5| 1 |COnhwGnip p[jmjph hwlpwhl SwewjnipntGOtnh qény 326,500.0 - 326,500.0
U»T3BATST3Y " YSEZ- 13(CY SREST3YUY»A

2160 | 01 | 6 | O |2anhwlGnup plnyph hwipuyhl SwewynipnLGaGn 161,400.0 161,400.0 -
(3l 2136»ACY 4843T113Y40)
anco’

2161 | 01 | 6 | 1 |COnhwGnip pGnyph hwGpwihG SwewnipintGatin (wi 161,400.0 161,400.0 -
13¢»ACY 83T 13Y40)

2200 |02 |0 |0 a2pta2UasAlacy 41,870.0 41,870.0 -
31 ATa0

2220 | 02 | 2 | 0 |@=303036¢C313Y &381&3YaoAlary 22,000.0 22,000.0 -
anco’

2221 | 02 | 2 | 1 |@=0=3036C3T3Y &3/ ASVaiAlasY 22,000.0 22,000.0 -

2250 | 02 | 5 | O |43BTA&3Y40AI40Y (3 136»ACY 483 1T3Y40) 19,870.0 19,870.0 -
anco’

2251 | 02 | 5 | 1 |a3Rra&3YasAlasy (3l 136»ACY 4831 T=Y40) 19,870.0 19,870.0 -




=t ATai0

T = % »%L | T labe»W3ICY TBEe»AC - aRT363T3Y 1363137 U3Y AVISUnTA
e ch 5 Eﬂ pwdhblbnh, fudptph L nwutiph waywbnabbpp Jwnswlwl pynigt | $nlnwyhl pynigk
1 2 3|4 5 6 7 8

2400 | 04 |0 | O TUTeé2T20 p252"°2sa6Alasuues 9,584,418.0 15,081,171.9 (5,496,753.9)
=1 A4

2420 | 04 | 2 | O | MadO=3uY U »éa0Alacy, 3Yr3é3icy o 363,300.0 - 363,300.0
VYU E40AI40Y, OTYAAEA0AIA0Y ~~ AREAA1A0AIATY
anco

2424 | 04 | 2 | 4 |&ag4-adl 363,300.0 - 363,300.0

2450 | 04 | 5 | 0 |TA3YE&4AT 16,358,743.5 13,986,091.1 2,372,652.4
anco

2451 | 04 | 5| 1 |O3Y3&3AN3CY TASYEAAAT 8,567,070.8 6,331,483.3 2,235,587.5

2455 | 04 | 5 | 5 |Ea0AT3T383A3(CY ~ 3 wASYe&af 7,791,672.7 7,654,607.8 137,064.9

2470 | 04 | 7 | O |Uy pOowqudwrGEn 15,000.0 15,000.0 -
ance’

2473 | 04 | 7 | 3 |2pnuwnontpintl 15,000.0 15,000.0 -

2490 | 04 | 9 | O |Sunbuwlwl hwpwpbpnipin006p (wyy nwubphl (7,152,625.5) 1,080,080.8 (8,232,706.3)
d83113Y40)
ance’

2491 | 04 |9 |1 Sﬁmbqguu,wg hwpwptpnientGbtn (wy nwubph (7,152,625.5) 1,080,080.8 (8,232,706.3)
a&3713Y40)

2500 | 05 |0 |0 Pdxe2T2 GL=2212U8% 42pTa2UadAlasu 7,213,194.3 7,143,194.3 70,000.0
=1 A4

2510 | 05 | 1 | O |Unpwhwbniy 5,037,106.4 5,037,106.4 -
ance’

2511 | 05 | 1 | 1 |UnpwhwGnLd 5,037,106.4 5,037,106.4 -

2530 | 05 | 3| 0 |PACZT= UCe3 T3¢ S0TATU3Y 15U 3030 38,701.9 38,701.9 -
ance’

2531 | 05 | 3 | 1 |G2C 30mawU3Y 1»0 &3(u=3A 38,701.9 38,701.9 -

2560 | 05 | 6 | 0 |PAc=31= UCc3T3UA¢C 3BT &ZYaoAlasy (3l 2,137,386.0 2,067,386.0 70,000.0
13E»ACY 4831 T3Y40)
ance’

2561 | 05 | 6 | 1 |Pic=T= UCC3T3IC &3Rwa3VatAlasy (S 13e»icY 2,137,386.0 2,067,386.0 70,000.0
4&37T3Y40)

2600 | 06 [0 | O ~02T26202U£U pEU=2628a0AUa0U ©1 9,183,398.3 6,650,256.8 2,533,141.5

TagasU=t 12e20a0Alacuues

=1 A4

2610 | 06 | 1 | O | "YSI=SA3Y3(CY BCY3A3A40AI46Y 526,597.1 26,597.1 500,000.0
ance’

2611 | 06 | 1| 1 |7 YST3A3Y3(CY RCYSASAa0AlasY 526,597.1 26,597.1 500,000.0




=t ATai0

T = % %L o Tlase»3ICY TBEe»AC -aRT363T3Y 1363T34.U3Y AVISUnTA
e ch 5 Eﬂ pwdhbatph, fudptiph L nwutiph woqwandbtpp Jqunswlywb pniet | $nlnwyhb pniot
1 2 3|4 5 6 7 8

2630 | 06 | 3 | 0 |@ASU=T 313730400 3,074,160.2 3,074,160.2 -
afigo

2631 | 06 | 3 | 1 |efi=3U=3w=3T3i=nal 3,074,160.2 3,074,160.2 -

2640 | 06 | 4 | 0 |64040Y»A¢ F466= FaAa6U 2,180,973.0 1,973,973.0 207,000.0
afigo

2641 | 06 | 4 | 1 |6&046Y»AC Faie=TaRadU 2,180,973.0 1,973,973.0 207,000.0

2650 | 06 | 5 | O | “Y3I=3A3Y3icY BeY3A=nacAl3Y — 1aUasy=¢ 8,000.0 - 8,000.0
136340AlaoYy»A¢ - IAT N> 13%a1313Y
YIEZ3. [3cY SRE3T3Y0Y»A
afigo

2651 | 06 | 5| 1| YSTSASYS(CY RCYSASAAAISY " Talayst 8,000.0 - 8,000.0
1363{a0Ala0YY»AC - TAT M>3%awr=T3Y = Y3ES. 13(cY
3RE3T3YuY»i

2660 | 06 | 6 | O | ~Y3I=3A3Y3ICY BeY3A=3na0AI3Y ~ TaUasy=e 3,393,668.0 1,575,526.5 1,818,141.5
136340446V Y»i (3IF 136»ACY 4831 T3Y40)
afigo

2661 | 06 | 6 | 1 |~ YSTSA3YS(CY acvfojﬁ3ﬁé6AU?Y"'l'éqga\’@g 3,393,668.0 1,575,526.5 1,818,141.5
1=363[a0AlasYY»A (3l 12e»ACY 4831 T3Y40)

2700 | 07 |0 | O 2ealz2a2pasAlasy 165,000.0 15,000.0 150,000.0
=1 A4

2710 | 07 | 1| O | “ABI3I=Y 3&A=YaY»A, é30»0 100,000.0 - 100,000.0
é3Au3ranacvy»n
afigo

2711 | 07 | 1| 1 |_»0=-aAT3T3Y S&A3YaY»h 100,000.0 - 100,000.0

2760 | 07 | 6 | 0 | 2640¢=383NaoAla6Y (3F 136»ACY 4831 T3Y40) 65,000.0 15,000.0 50,000.0
afigo

2761 | 07 | 6 | 1 |2640¢3&3N3T3Y N3ASTCH 126340A140YY»A ™ TAS - finfi 65,000.0 15,000.0 50,000.0

2800 | 08 [0 | O p2UvEeT, @b2TaolA i TsaU 3,423,173.5 2,466,693.5 956,480.0
=1 A4

2810 | 08 | 1 | O |P3Y-&7C ~684ATC I36346AI46YY»hA 830,163.6 418,683.6 411,480.0
afigo

2811 | 08 | 1 | 1 |D3Y-&W (¢~ 6R4AWC I=26=3(40AIA5YY» 830,163.6 418,683.6 411,480.0

2820 | 08 | 2 | O |@B3T46A3ICY 263404146V YA 2,532,989.9 1,987,989.9 545,000.0
afigo

2821 | 08 | 2 | 1 |TIASIZABYY»fi 609,257.7 364,257.7 245,000.0

2822 | 08 | 2 | 2 |ASY-3A3VY»fi ~ 6406363V »f 234,202.4 234,202.4 -

2823 | 08 | 2 | 3 |Uwynyph wnbn, wyntipbtp, Ysaunpnbbsn 85,108.2 85,108.2 -




=t ATai0

T = % »%L o Tlase»3ICY TBEe»AC -aRT363T3Y 1363T34.U3Y AVISUnTA
e ch 5 Eﬂ pwdhbatph, fudptiph L nwutiph woqwandbtpp Jqunswlywb pniet | $nlnwyhb pniot
1 2 3|4 5 6 7 8
2824 | 08 | 2 | 4 |2 UB=TAASICY T3S T»AAA0AIAGYY»A 1,176,205.8 876,205.8 300,000.0
2825 | 08 | 2 | 5 |2fT»&W 401,515.8 401,515.8 -
2827 | 08 | 2 | 7 |DARSAOBYY»AC ~* UBSTAIASICY 3AA»UY»A¢ 26,700.0 26,700.0 -
DAST3Y- Y450~ &3N&a=3Vail
2830 | 08 | 3 | 0 |@31Ca " N»éaié T 3N30an1a5uy»n¢ 36,000.0 36,000.0 -
N»63[031U3Y * NA3T30312313Y
1363JacAlacyy»h
afigo
2831 | 08 | 3 | 1 |P»é&de T =631CaN=04aM145UY»f 36,000.0 36,000.0 -
2840 | 08 | 4 | 0 | TA&Y313Y =~ N363431313Y 3 24,020.0 24,020.0 -
1363JacAlacyy»h
afigo
2843 | 08 | 4 | 3 |TRAY=ST3Y " N=263A3T3T3Y 3 1263(40Al40YY»f 24,020.0 24,020.0 -
2900 |09 [0 | O ToAaAUasU 23,707,658.9 22,153,400.3 1,554,258.6
=1 A4
2910 | 09 | 1 | O |UBE314Aa6313Y = w3AA=313Y AYIN=3Yaoh 13,240,035.2 12,940,035.2 300,000.0
TAdaoAiasy
afigo
2911 | 09 | 1 | 1 |USE3147463T3Y ThA&oAlasY 6,847,740.0 6,547,740.0 300,000.0
2912 | 09 | 1 | 2 |T3AAST3Y AYIN=Yadn ThAABAIASY 6,392,295.2 6,392,295.2 -
2920 | 09 | 2 | O |@CeY3TI3rA- AYIN3YAGA TAAZ0AI46Y 7,124,009.9 7,124,009.9 -
afigo
2921 | 09 | 2 | 1 |BGUY=T=Y AY2N=Yadfn THAAAl&GY 6,813,678.2 6,813,678.2 -
2922 | 09 | 2 | 2 |@CcY=3T=3- (FACT) AVIN=Vasn TAA&sAIASY 310,331.7 310,331.7 -
2950 | 09 | 5 | 0 |A8T UST3A13IY»AC 4136313f- 40 17AadAla6Y 2,764,650.1 2,060,391.5 704,258.6
afigo
2951 | 09 | 5 | 1 |2AWS1ARA6ST3Y 136 WC3ASTA0AlA0Y 2,764,650.1 2,060,391.5 704,258.6
2960 | 09 | 6 | O | TAA&GAI3YA TA3U31/1740 0A=Y13T 578,963.7 28,963.7 550,000.0
1363JacAlacyy»h
afigo
2961 | 09 | 6 | 1 |TAA&AISYA WA=U31AT40 0A=3Y1=3T 1=2¢3(40AIa5YY»A 578,963.7 28,963.7 550,000.0
3000 | 10 |0 | O eaok=2t2120 a=2pta=UasAlascy 2,349,111.7 2,349,111.7 -
=1 A4
3070 | 10 | 7 | O |846C3E3T3Y N3Wa0l 3AWAYATAIAGYY»1i (SlE 583,104.6 583,104.6 -
136»fCY 4843 1T3Y40)
afigo
3071 | 10 | 7 | 1 |@46C3H3T3Y N34T SAWAYAIAIATYY»A (S 13e»ACY 583,104.6 583,104.6 -

i&=r1=Y40)
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=t ATai0

[ . [ — — - N .
Jéz = »%L o) Tlaso» =ICY T2Ee»AC - aRT363T3Y 1363137 U3Y AVISUnTA
e ch 5 Eﬂ pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswyw pniet | $nlnwiha pintek
1 2 3|4 5 6 7
3090 | 10 | 9 | 0 |846C3¢E3T3Y &3BUE3YA0Al46Y (SIF 136»ACY 1,766,007.1 1,766,007.1 -
483113Y40)
&RCo
3091 | 10 | 9 | 1 |846C3E3T3Y A3R T ABYAAIATY (S 138»ACY 302,359.1 302,359.1 -
A3TT=3Y40)
3092 | 10 | 9 | 2 |@46C3HE3T3Y A3RTASYAAISYA WA=U31AT40 0A3Y13T 1,463,648.0 1,463,648.0 -
1=3¢3{a0AlasY Y»f (3 126»ACY 4831 1T3Y40)
3100 | 11 |0 |0 pAEZU=2T20 “2AEUU°8EU &a_=2éi1al 6,047,307.0 6,072,307.0 3,000.0
a2patéT2UEU ual _°s
31 ATa0
3110 | 11 | 1 | O |PP I'B6373A40AI3Y ~ N3U3IYuY»A¢ 6,047,307.0 6,072,307.0 3,000.0
&34 13Igy yavr
&RCo
3112 | 11 | 1| 2 |pP N3U3VuY»Ac &3Nasen=ICY yayr 6,047,307.0 6,072,307.0 3,000.0
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P3»Ei3IN3
Of " 3Y uB030C 313-3V4)

2013 pqwywh neynkiptph 25-h

N 97-U anaru=sy

©3°1 20 2014 AT 2T2UL “Uad=°k 12842120 1 ual 20U g=2é°6£0 b2TT20200UCBA" AéT ~Uate°oT20£U 12E&°8K
TUTOE2MAT2T20 _ 28271281020

(N=1%= 1A30Y»AAT)

e A ) TR A e s ety 3 ATasu
c = (a0c» =Y 1=SEE»AC TY1»e=-CT=13Y. NN AVI3(nVA
l:."EJ = 1383130-U3Y NaTT31Y»AC 3YT3YalUY»AA Jwpswywl pjniot $nlnwyhb pjniob
1 2 3 4 5 6
4000 |AU_=2@°UA 12Eé°s 69,491,815.9 69,081,815.9 438,000.0
31 A4l
4050 | 2. AUA20ET 12Eé&°8 X 69,056,815.9 69,081,815.9 3,000.0
31 A4l
4100 |1.1 2pE=2T2Ugk 12802Tda0A0asU X 5,432,633.4 5,432,633.4 -
31 ATa0
4110 | _&62@ai 1028140 2pPE2T2712580°8 ©i X 5,432,633.4 5,432,633.4 -
P21 921 0280°8
&RCo
4111 |- 2RE3TAOY»AC SRESWST3A0»0 ~ NS T»ES Tx3AY»f 4111 4,869,244.7 4,869,244.7 -
4112 |- &3 -3 TRAUY»A, 1ASUST3Y EASE&ieaUY»A ~ N3 wasT 4112 563,388.7 563,388.7 -
Tx3AY»A
4200 |1.2 12é&20acAlasuUesLE 21 2a62UgU°sk X 28,785,444.3 28,785,444.3 -
0c&g °3a0D
31 ATa0
4210 | p25a002T2T=2U 12Eé&°56 X 7,363,077.9 7,363,077.9 -
&RCo
4212 |- %Y»f-»0CT 1363(a0AlasYY»fi 4212 244,881.1 244,881.1 -
4213 |- TaU&sY3t 1=2é3{40AlasYY»h 4213 6,609,199.6 6,609,199.6 -
4214 |- T3&C 1=363(4pAla6YY»h 4214 171,322.4 171,322.4 -
4215 |- 2&43Nai=-A3T3Y I3Eé»A 4215 219,304.0 219,304.0 -
4216 |- Ta8lUC " e3AUS TaRasUY»AC TSA0ST3tasAlasY 4216 118,370.8 118,370.8 -
4220 | Tas1a00asdUesE @i bde220asAlasuuosks X 70,548.0 70,548.0 -
12Eé°5
&RCo
4221 |- U»A0CY -afTas0asuy»f 4221 48.0 48.0 -
4222 |- 2 w=3e3NU=3VI3Y -anTai0a0Y»AC - TAT T=2Eéx»h 4222 70,500.0 70,500.0 -
4230 | 4202202962040 20t 12&20a0A0a000U°8L 0Peg X 14,474,557.8 14,474,557.8 -
“o5a60
&RCo
4231 |- i 3A53T3Y 1363a0Ala0YY»A 4231 2,909.9 2,909.9 -
4232 |- D3U3T3A-53(CY 1363(a0Ala5YY»fi 4232 36,194.8 36,194.8 -
4233 |- 2RE3T3T34UC UBEY3-Cr3T3Y 136 - 3603Y 4233 9,240.0 9,240.0 -

1=63{a5Ala5YY»h

12




=t ATai0

= A EEAL A i A Ty -
E = 1:-U'.?g)|'laﬁ U%Yle Nif?fwljﬁ:;)ﬁw :()-;\;éﬁul\'(»;/& NN AYTSUYA JWnswywa pintet | $nlnwiht pintgk
1 2 3 4 5 6

4234 |- T>O>T3TT3T3Y 1363(a0Ala6YY»A 4234 66,009.2 66,009.2

4235 |- T3 T3S T3Y 1363(40Ala0YY»hi 4235 10,000.0 10,000.0

4237 |- U»AT3[=0640031T3Y I3Eé»ii 4237 108,881.4 108,881.4

4238 |- CUnhwOnip pOnyph wy| SwrwjntpntGGEn 4239 14,241,322.5 14,241,322.5

4240 | 2UE @2eU29£T2T20 12&20a0A0a000°8% 0°eg X 86,043.9 86,043.9
“o3a0
afco”

4241 |- @36Y3-CU3T3Y 1263(40AlasVY»f 4241 86,043.9 86,043.9

4250 | AUAZOAT Uasafasd 1 a2pa=Uaig (13¢3(a0AlaoyV»fi X 6,149,774.2 6,149,774.2
" Yi&oA»r)
afico

4251 |- b»YU»fAC ~ T2¢a0l6Y»AC AYA=4CT YaRa-ail ~ &=Na=vaiu 4251 5,872,449.1 5,872,449.1

4252 | - @»U»Y3Y»AC " €30S Tanasly»ic AYA=6CT Yafia-aoU 4252 277,325.1 277,325.1
a=la=val

4260 | UUabA°s X 641,442.5 641,442.5
afico

4261 |- TA=e»YIST3(CY YiasA»f " N=- 408 4261 83,289.5 83,289.5

4264 |- TA=Ye&ART3ICY YiaoA»h 4264 264,867.5 264,867.5

4267 |- T»Y6=30=3(CY ~ N=YASICY 6YY1C YiadArh 4267 24,250.5 24,250.5

4268 |- D314l YAST3T3ICY 3 YiasA»f 4269 269,035.0 269,035.0

4400 |1.4 eao” ek _£2U0°8 X 13,299,543.6 13,299,543.6
31 AT4U

4410 |éao” ek, £=2U°8 f”"°"f"f.720 (p=@=00g=UAU) X 13,093,143.6 13,093,143.6
12v,02Te5420A0a00U°8£U
afico

4411 :_Ungpu_hnhwﬁbn ns {bhﬁu.;UquwJU wewnwywo (hwdwybpuwyhl) 4511 13,093,143.6 13,093,143.6
I3%LU=T»NAA0AIA0Y Y»ACY

4420 |éao” ek, £2U°08 aa ??1‘2’?%0 (24 b2@=200e=2U£U) X 206,400.0 206,400.0
12v,02Te5420A0a00U°8£U
afico

4421 |- Unipuhnhwlbp ng whtnwyw (ng hwdwGpuht) ng 4521 206,400.0 206,400.0
YCY3Ye3T3Y T3S T»AAA0AIAY Y»ACY

4500 |1.5 _32@2pUasdsples X 1,448,903.8 1,448,903.8
31 AT4U

4530 |AUAZOAT , 82@=PUaspUes a°T2T20 D2T121£ 2UE X 1,448,903.8 1,448,903.8
22125 _2TU°8£U
afico

4531 |- AYASOCT 1A3U3RYAANY»A &»wST3Y ~ NSUSIVUY»AC 43 4637 22,718.0 22,718.0
3¢ TABICY T3RUST»AA40AIA5YY»ACY

4532 |- AYAS6CT 1A3U3RYAANY»A &»w=ST3Y - NSUS3Yusicy 4638 66,781.6 66,781.6
3¢ TABICY T3RUST»AA40AIA5YY»ACY

4533 | - 2[f AYA=6CT 1A3U=RYARANY»A 4639 1,359,404.2 1,359,404.2
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=t ATai0

= “laic» WSICY TSEE»AC WY T »E3-Cr3T3Y o o
[= - S 7 ; e oo 1=
l:."EJ % 1383130-U3Y NaTT31Y»AC 3YT3YalUY»AA NN AYISURYA Jwpswywl pjniot $nlnwyhb pjniob
1 2 3 4 5 6
4600 |1.6 éa0£=2E2T2U UazétUos ©i X 1,738,872.0 1,738,872.0 -
ToUéezAab2TU°s
31 A7400"
4630 | éaok=2e2T=20 uUasAl=20 _ 6202120 X 1,738,872.0 1,738,872.0 -
25712p20Ta0A02g0" Ua2éeTU°8 ~UateCko)
anco
4634 | - W) Gwwuwnbbp pinuotihg 4729 1,738,872.0 1,738,872.0 -
4700 |1.7 2UE 12Eé°s X 18,351,418.8 18,376,418.8 3,000.0
3 Afas0
4710 |U1A82T1a0AUa0U°s aa T2&21262120 X 1,092,629.9 1,092,629.9 -
(p2e252T2T20) T2v@2Tedaa0AlUaUUCSEU
anco
4712 |- UTCA=rTa0AlasYY»A 3 8=RaslA al»r=ay1ad 4819 1,092,629.9 1,092,629.9 -
T3UUST»AA40AIAYY»ACY
4720 |D28T°5, 42612 _£d 10280°8 <1 TasUA°s, asals X 140,260.9 140,260.9 -
T2&2126020 7267 26 32126 _ 2TUCSE TadBkd
TEd=2&1 a0 2U g£oU=2006 UT2T020"
anco
4723 |- A3AT31CA Tx3AY»f 4823 140,260.9 140,260.9 -
4760 |2UE T2Eé°5 X 11,071,221.0 11,071,221.0 -
anco
4761 |- 2 I3Eé»f 4861 11,071,221.0 11,071,221.0 -
4770 | a2patéT2ULU gEzaoU°s X 6,047,307.0 6,072,307.0 3,000.0
anco
4771 |- a=3Na66=3{CY UCcaoY»h 4891 6,047,307.0 6,044,307.0 3,000.0
4772 | wyn pUntd’ hwdwybph pniebh Jupswywl dwuh ywhniunwih X - 28,000.0 -
yaY10o yay1=3(cy U=e T3 w3140 N3 T306400Y»AA
5000 |~.aa ukU=20eé2T=20 2TTEiIU°sL T1al X 8,677,706.3 - 8,677,706.3
12Eé°s
3 ATasu
5100 |1.1 pA@U2T2U gkzaoUes X 8,638,206.3 - 8,638,206.3
31 A7400"
5110 |p2Ug®s @i bE£UAAUAUUCS X 7,153,509.4 - 7,153,509.4
anco
5111 |- Gklpknh L 2hbnipynibbbph dGrppEnnLd 5111 500,000.0 - 500,000.0
5112 |- b»YU»fiC = RCYABAIAIYY»AC 136450450 5112 1,562,000.0 - 1,562,000.0
5113 |- b»YU»AC ~ BCYASAIASYY»AC TSACT S T»A=Yana- 46U 5113 5,091,509.4 - 5,091,509.4
5120 |@°g°2U=20°8 ©i1 &285=21ada0U°s X 1,150,196.9 - 1,150,196.9
anco
5121 |- TASYEA&A3(CY 63Au=Tanaiuy»h 5121 50,900.0 - 50,900.0
5122 |- I3a3T3Y 63A0=TaRaUY»A 5122 127,832.0 - 127,832.0
5123 |- 2l U»U»Y3Y»fi " 63A03 TanalY»h 5129 971,464.9 - 971,464.9
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=t ATai0

i e . v A vy -
E = 1:-U'.?g)|'laﬁ U%Yle Nif?fwljﬁ:;)ﬁw :()-;\;éﬁul\'(»;/& NN AYTSUYA JWnswywa pintet | $nlnwiht pintgk
1 2 3 4 5 6
5130 |=2UEp£@U=2T2U gEza0U°s X 334,500.0 - 334,500.0
afico
5134 |- U3E3. 3> 13313y [SEex»i 5134 334,500.0 - 334,500.0
5200 |1.2 42p25U°s X 39,500.0 - 39,500.0
31 A4
5221 |- Ul4oA»f = &3/=-3V»h 5221 39,500.0 - 39,500.0
6000 | 9. aa ukU=20é2T20 2TTEIUCBL £520a00£0 X (8,242,706.3) - (8,242,706.3)
PaoTe°d
31 A4
6100 |PEGU2T2U BE=a0UCSE £520A00A0 BATEOD X (1,800,000.0) - (1,800,000.0)
=1 ATa0
6110 |20p=28A Taolek £52020D/E0 BAOTEOD 8111 (1,800,000.0) - (1,800,000.0)
6400 |425T2_8121 2TTE1UCSE £520200K0 X (6,442,706.3) - (6,442,706.3)
PaoTe°d
21 A4
6410 |Pa0K £520a00/E0 BAGTECd 8411 (6,442,706.3) - (6,442,706.3)
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©5°1 20U 2014 AT212UL “UatePk _ CULOETA (a2T28a00 _A)
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of "3y 43030C 272 -3V4)
2013 pYwlwah ntywnbtptnh 25-h
N 97-U anaru3y

(\=%=3h 1ASUY»AaT)

Ta0C o 31 AT
AY130»YA
NN Jupswlwo pnigb | nlnuwht pniok
1 2 3 4 5
8000 |AU_2@°UA b=i°tasd A T20 _°CULOETA (400,000.0) - (400,000.0)

(52T26a08_A)
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P3»i3INS5
Of " 3Y uB030C 313-3V4)
2013 pqwywh neywnkiptph 25-h

N 97-U anaru=sy

©3°1 20K 2014 AT 2T2UL “Ua0=Pk | CUAOATE (A2T28a08  £) uAU20é21a6@20 207 UasdsUesA

(N=%=/ 1A=30Y»AAT)

2 B S v 31 ATa0
1a0C (46c» W3ICY TSEE»AC TY T »e3-Cur3T3Y NN AVLSTA
NN 1331303y Nélf3iY>>ﬁC 3V T3YaUY»hA Jwpswywl pjniot $nlnwyhb pjniot
1 2 3 4 5 6

8010 AU _2g°oUA 400,000.0 - 400,000.0
31 A4l

8100 2 UesgkU 207 0assU°s 400,000.0 - 400,000.0
31 A4l

8160 |2. i£U20é2T=2U 2TT£ATU°S 400,000.0 - 400,000.0
31 ATa0

8190 |2.3. Lwdwjbph pnigth dhengltph wnwptuyqph 400,000.0 - 400,000.0
3H3Y UY364iALA°
31 A4l

8191 |2.3.1. <wdwjbph pyniobh yupswywb dwuh dhongltinh 9320 100,000.0 100,000.0 -
wnuwnbuygph wqwuwn dGwgnpn
anco’

8192 | - Glpwlw F ninniwh hwdwylph pntobh Jupswlw dwuhg Guifunpn - - -
T34l yoY3Ye=Tanl3yY »YAST3, 6313 ayCY3Ve3Taii= 1 3613
AT 3TafaiAlasyY Y»i¢ T313iU3YA

8193 |- Glpwlw F minndwl hwiwylph pniobh dnlnuyhl dwu 100,000.0 100,000.0 -

8194 | 2.3.2. <wiwjlph pintebh $nlnuyhb dwuh dhonglbph 9330 400,000.0 - 400,000.0
wnwptiuygph dbwgnpn
anco’

8195 |- wrwlg Yupswlywl dwup dhonglbph tnwpbuligpp wquin diwgnpnpg 300,000.0 - 300,000.0
yaY13(CY U3é Uaimu=-Au3Y »YAZS13 - 4U3AC

8196 |- Yuwpswlwl dwup dhonglbph unwpbuligrph wquin dhwgnpnhg pnlnuyhl 100,000.0 - 100,000.0
U3e Uaimu=-iU3Y »YA3IT3 - alU3nA
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P3»ti316
OfF 3Y uB030C 313-3V4)
2013 pwywbh nGYwnkdptnh 25-h
N 97-U anarusy

©8°1 20U 2014 AT2T2UE ~Vateok 12642120 ©1 ual 2UEU @2&°6£0 D2TT20200U°BA" AéT ~UatecT2UAU 12E&°8K
fasize=120 1 TUTCee2MAT2T20 _ 28271281020

(N=1%=3f 1A30Y»A4AT)

= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
AU _2@°UA 12Eé°8 69,491,815.9 69,081,815.9 438,000.0
2100/01/0 | O AU _p=20as6 ~UaclAL 2082040 7,776,684.2 7,108,810.4 667,873.8
T12&20asAlas0U°s

31 ATa0

2110|01| 1 | O | GA»Yé1cA =~ -4AT31CA UBAUCYY»A, 7,216,733.5 6,875,359.7 341,373.8
A»T313Y I36373A40U, yCY3VE3I3Y
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
&RCo

2111|01| 1 | 1 |GA»YELCA ™ -aRT31CA USAUCYY»f, A»n3T3Y 7,216,733.5 6,875,359.7 341,373.8
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 7,047,055.4 6,871,323.4 175,732.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 4,517,890.0 4,517,890.0 -
N3 T»E2Tx3AY»A
- &30 - T3 TRAUY»A, 1ABUST3Y EASEaieaUY»A 4112 563,388.7 563,388.7 -
N3wasT Tx3AY»A
- WY»A-»wCT 1263[a0AIasYY»f 4212 237,173.4 237,173.4 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 15,624.1 15,624.1 -
- T3AC 1363(a0AlasYY»fi 4214 168,059.3 168,059.3 -
- 283413 -A3T3Y I3Eé»A 4215 5,168.0 5,168.0 -
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 100,800.0 100,800.0 -
- 2Aw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 70,500.0 70,500.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 2,904.9 2,904.9 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 36,194.8 36,194.8 -
- 2RE3TST33UC UBEY3-Cr3T3Y 136 - 3603Y 4233 9,240.0 9,240.0 -
1=3¢3{a0AlasYY»h
- DO TSWTST3Y 1363{40Ala0YY»h 4234 39,809.2 39,809.2 -
- T2E3T30E213Y 13¢3a0AlasYY»A 4235 10,000.0 10,000.0 -
- U»AT3(=064068313Y 13Eé»i 4237 108,881.4 108,881.4 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 266,552.5 266,552.5 -
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 10,643.9 10,643.9 -
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ” anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9

- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 275,910.1 275,910.1 -
Yafia- &l &=N&=vail
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 76,257.7 76,257.7 -
- TASYE AT 3ICY YiaoA»f 4264 262,231.2 262,231.2 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 23,715.2 23,715.2 -
- DA YA 213y 3 YiasA»i 4269 6,450.0 6,450.0 -
- W Gwwuinbbp pinuotihg 4729 37,250.0 37,250.0 -
- A3AT31CA Tx3AY»f 4823 3,179.0 3,179.0 -
- 2[f I=Eé»h 4861 23,500.0 23,500.0 -
- TABYEAAAT3(CY 63hu=Tanaiuy»h 5121 50,900.0 - 50,900.0
- T 3EST3Y 6303 TanaiUY»h 5122 124,832.0 - 124,832.0
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 169,678.1 4,036.3 165,641.8
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 4,036.3 4,036.3 -
a=N&=vail
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 165,641.8 - 165,641.8

2130|01 | 3 | O |2anhwGnip pGnyph SwrwynipintGGEN 72,050.7 72,050.7 -
&RCo

2131|101 | 3 | 1 |Upfuwwnwywaquih /yunpbph/ gény panhwbnip pGnyeh 72,050.7 72,050.7 -
1=3¢3{a0AlasYY»h
31 ATa0
1. 303036C313Y 13640A13Y ST1»AC 72,050.7 72,050.7 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I'33U=31»A8400 (A3 T iCAZTT3T
EQ 2347404140 YY»H)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 63,505.2 63,505.2 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 3,294.9 3,294.9 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 126.5 126.5 -
- T2AC 1363{a0AlasYY»h 4214 1,165.6 1,165.6 -
- aliC T e3AUS TaRasUY»AC TSA0ST3tasAlasY 4216 1,228.8 1,228.8 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 5.0 5.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 254.0 254.0 -
Yafia- &l &=N&=vasl
- TASE»YIST3ICY YidsA»A ~ N=-ase 4261 2,158.9 2,158.9 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 229.9 229.9 -
- A3AT31CA Tx3AY»f 4823 81.9 81.9 -

2150|01 | 5 | O |2anhwGnin pGnyph hwGpuyhG 326,500.0 - 326,500.0
T36340AIacYY»AC - T&T N» T3%41313Y
YSEZ.[3gY 3BEZT3Y0Y»A
&RCo
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= ol “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

= = 59 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA &
1 (2|34 5 6 7 8 9

215101 | 5 | 1 |COnhwGnip pOnyeh hwOpwihG SwewjnipnLGGbph 326,500.0 - 326,500.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
31 AT460"
1. USE3-[3cY SRE3T13Y0Y»i 286,500.0 - 286,500.0
- USE=- 1213 r3T3Y [SEé»f 5134 286,500.0 - 286,500.0
2. OA"3Y 03030¢ -FE3idA N3T313-1¢ 6,000.0 - 6,000.0
xB- AT &0
- USE=- 1213 r3T3Y [SEé»fi 5134 6,000.0 - 6,000.0
3. Y47 C3idAU3Y ~ 136406383 1U3Y 9,000.0 - 9,000.0
Y3E3- I»Ac UB3T14a6U
- USE=- 1213 r3T3Y 1SEé»f 5134 9,000.0 - 9,000.0
4. p303038CY3T13Y V»A1AaiU3IcY IA3-A»AC 25,000.0 - 25,000.0
UB=146U
- USE=- 1213 r3T3Y 1SEé»fi 5134 25,000.0 - 25,000.0

2160(01 | 6 | O | LaGnhwlnip plGnyph hwipughl 3 161,400.0 161,400.0 -
T36346AIacY Y»i (3IF 136»AcY 483 113Y40)
anco

216101 | 6 | 1 |COnhwGnip pGniyph hwOpwihlG SwewntpinLGGGn (w)) 161,400.0 161,400.0 -
12E»fCY 4831 T3Y40)
3 ATasu
1. _ CUAbUY»A, N36310U400Y»A, 13 3A3Y¢ 59,550.0 59,550.0 -
4AdBaGUY»AC "~ TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn GEpyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3AT31CA Tx3AY»h 4823 59,550.0 59,550.0 -
2. Qnyph Gyunduwdp hpwyniGplbph 101,850.0 101,850.0 -
-A3Y6U3Y, -YIN3TU3Y =
T0» I3 T T40AI3Y TA3U31A03Y N» 71
134731 ix3[400Y»i
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 24,400.0 24,400.0 -
- A3A31CA Tx3AY»h 4823 77,450.0 77,450.0 -

22001020 |0 a=2pta=0asAlacy 41,870.0 41,870.0 -
3 ATasu

2220102 | 2 | 0 |@=3030306C313Y &38T&3YaiAla6Y 22,000.0 22,000.0 -
anco

2221102 2 | 1 |@=030=6C3T3Y &3 A3YaiAlasy 22,000.0 22,000.0 -
3 AT460"
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

ey
= 2 A =) pwdhaltnh, fudptph L nwubph, hOswtu Gub E AV A
e 2 HE 2 pIntottnwhG Swiuutinh iGunbuwghnwlwl ZE ATEL Junswywl pnigt | $nanuiht piniet
ol =2 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. #303036C313Y 4380 E3Ya0AI3YY 22,000.0 22,000.0 -
Bc316404la6Y
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 1,000.0 1,000.0 -
- MA=E»YIST3ICY YiaoA»f ™ N=- 408w 4261 1,000.0 1,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 20,000.0 20,000.0 -

2250|102 | 5 | 0 |&3BWE3YA0AI40Y (3 136»ACY 483 1T3Y40) 19,870.0 19,870.0 -
afigo

2251|102 | 5 | 1 |a3RmA&3YaiAlasY (3l 136»ACY 4831 T=3Y40) 19,870.0 19,870.0 -
=1 A4
1. %aA3144C I3303>A8U3YY 3c31640Al45Y 19,870.0 19,870.0 -
- q&0IUG T eSAUS TARAUY»AC TSAOST3Ea0Al46Y 4216 1,800.0 1,800.0 -
- TASYEAANT3ICY YiaoA»A 4264 1,070.0 1,070.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 17,000.0 17,000.0 -

2400|040 |0 TUTe82T20 252" 25a6AlaslUes 9,584,418.0 15,081,171.9 (5,496,753.9)
=1 A4

2420|104 | 2 | O | MaiO=3UYU»éa0AlacY, 3YT363icy 363,300.0 - 363,300.0
TYU»éaiAlacy, OTvaneaollasy -
aféan1achliasy
afigo

2424|104 | 2 | 4 |aéa-al 363,300.0 - 363,300.0
=1 A4
1. aéd-U3Y 63Yo¢ 13é4064i0 363,300.0 - 363,300.0
I»A3YAA4 - 46U
- b»YU»fiG * RGYABAIAGYY»AC T3¢45645U 5112 350,000.0 - 350,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 13,300.0 - 13,300.0

2450|04 | 5 | 0 | TA=Ye&4AT 16,358,743.5 13,986,091.1 2,372,652.4
anco

2451|104 | 5 | 1 |O3Y3&3AN=UCY wA=YedanT 8,567,070.8 6,331,483.3 2,235,587.5
=1 A4
1. Uupuywn-piiinlyw dwélh Jbpwlnpngnid b 5,026,886.7 5,026,886.7 -
S3N83va0U
- P»YU»iiC * T3640l6Y»AC AYASGCT Yafia-aiU 4251 5,026,886.7 5,026,886.7 -
a=la=val
2. Uupuwywn-punntyu swélyh hhdGulnpngnid 350,000.0 - 350,000.0
- P»YU»AC ~ BCYABAIASYY»AC TSACT3E T»ASYanA- aU 5113 350,000.0 - 350,000.0
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

3. OUABUBA»AC I»ASYAAE - 46U 40,598.8 17,598.8 23,000.0
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 17,598.8 17,598.8 -
a3Na=vail
- P»YU»AG ~ RCYABAIAYY»AC TBACT3E T»A=YaRa-4a0 | 5113 23,000.0 - 23,000.0
4. D»Y3E3U»AC I»A3YEA4 - 40U 170,000.0 20,000.0 150,000.0
- b»YU»AC " T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a3Na=vail
- b»YO»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 150,000.0 - 150,000.0
5. D» W CATY 3Y640UY»AC 136466460 590,277.0 15,000.0 575,277.0
I»A3YAahi4 - 46U
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 15,000.0 15,000.0 -
a3Na=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 572,000.0 - 572,000.0
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 3,277.0 - 3,277.0
6. T3UAc3cY 136406 I310Y»A¢ 110,000.0 90,000.0 20,000.0
A3I3Y- Y46l ~ §3N&3YaoU
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
- P»YU»AG ~ RCYABAIAYY»AC TBACT3E T»A=VaRa-4al0 | 5113 20,000.0 - 20,000.0
7. <pwiqnuil Ypapah pupbywnpgmd 1,997.8 1,997.8 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,997.8 1,997.8 -
8. P31[ai0CY»A¢ ~ +a04a6Y»Ac 817,810.5 - 817,810.5
I»A313640640U "~ NCUY3Y&AE - 46U
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 817,810.5 - 817,810.5
9. 64046Y»AC E3NE3YA6U » T B3N3 - 4AT400 60,000.0 60,000.0 -
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara-aiU 4251 20,000.0 20,000.0 -
a3\a=vail
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 40,000.0 40,000.0 -
10. 2ZiTaI3/3Y31»0C 13503 1»A803Y 700,000.0 700,000.0 -
1363/46Ala6Y
- 2[f I=Eé»h 4861 700,000.0 700,000.0 -
11. A»03N3AA3TY»AC 136466400 40,000.0 - 40,000.0
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 40,000.0 - 40,000.0
12. UYwnnpriulbpnid pbpwhwppwllbbph 30,000.0 - 30,000.0
383N4i46U
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 30,000.0 - 30,000.0
13. 64046Y»AC, NABA3AZTY»AC ~ 3|-CY»AC 229,500.0 - 229,500.0
I=3N374naoy
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 200,000.0 - 200,000.0
- UldoA»f ~ A== -3Y»h 5221 29,500.0 - 29,500.0
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“laier W 3ICY TSEE»AC -anl=63T3Y 1363137 U3Y
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuutph tnbwnbuwghwnwyw

1363137 U3Y NALT3IV»AC SYT3YAUY»AA

FAnnywdh
MM

AY13U»YA

=t ATai0

Jwpswywl pjniot

$nlnwyhb pjniob

[y

N

w

5

7

8

14. Uupwywb pwlGlh wowlgnipjwdp
CA3T3Y36i40 u303u3icy

»YA3BI136466 I3IuY»AC ~~ u303uC 13145y
B30 - 30U3Y Y»A1A46U3IcY TA=-AC CAS6U3Y

UCcd63640UY»i

400,000.0

400,000.0

- W Gwwuinbbp pinuobihg

4729

400,000.0

400,000.0

2455

04

E&0AT3T3R3A3ICY * 3 rA3Yel4AT

7,791,672.7

7,654,607.8

137,064.9

=t ATai0

1. T»AxE31Y»AC NCUY3YAaha - 46U

97,064.9

97,064.9

- 2 UnU»Y3Y»f " e3A03TanalY»A

5129

97,064.9

97,064.9

2. Of"3YC U» T AEEEFCT»YC SBE3T3YUY»i

13303 1»7440U0 (A31TiCAi=31T31

£ BUAAA0AIAGYY»F)

2,612,834.6

2,612,834.6

- Untpuhnhwbp ng $hOwbuwywl wtnwyw
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

4511

2,512,834.6

2,512,834.6

3. I»A-»T VI3 (I TTABTABYEREATET
400" 4A3+4E31AU3Y [363a6Alasy

466,916.3

466,916.3

- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

4511

466,916.3

466,916.3

4. T»A313640003Y "~ 43 - 36U3Y
Gypnwuwlwl puwlyh wowlgnipjuwdp
CA3T3Y36i40 @A "3YC U» T AEREECT»YC
I»A3136400U3Y »AlA4A [A3-CA
(B3TTICAZIT3I FC334R40AI40YY»H)

1,656,335.5

1,656,335.5

- 2t [3Eeé»fi

4861

1,656,335.5

1,656,335.5

5. GYnpnwwlywil Gepnpntdughl pwllyh
wowlygni pjwid) whwawagynn Gplwg,

U» TAEREFCH»YC I»AST36400U3Y »AlAant
IA3-CA (A3 T ICA3TT3I FC3%AA40AIA5YY»A)

1,635,781.5

1,635,781.5

- 2t [3Eeé»fi

4861

1,635,781.5

1,635,781.5

6. CiAAAZ13Y UC46AI3Y N3A"3YA6AI=Y
GGpnpnduyhl Spwgph wowlgnipjwdp
CA3I3Y36740 ©A3YC U» TAAAEECT»YC
I»A3136400U3Y »AlA&AL 1ABU3LYAANZ3ICY
IA3-CA (A3 T ICA3BTT3I FC3%AA40AIA5YY»A)

1,382,739.9

1,382,739.9

- 2t [3Eeé»fi

4861

1,382,739.9

1,382,739.9

7. §9A"3YC ;» [T AT A3YEZ4AT ! 6~ A
»YASI36400 I3 10Y»AC YA4AE - 46U

40,000.0

40,000.0

- P»YO»AC ~ RCYABAIAGYY»AC TSACT 3t T»ASYaR4 - 40U

5113

40,000.0

40,000.0

2470

04

Uy phwqudwnGbp

15,000.0

15,000.0

anco’

2473

04

Qpnuwpontpintl

15,000.0

15,000.0

=t ATai0
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
cZ 3 0 swfuubinh Wl wluw z 0 pyniot Gnwyhl
wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9
1. 2pnuuippgni piul quipquigntd 15,000.0 15,000.0 -
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 15,000.0 15,000.0 -
2490|04 | 9 | O | SGwnbuwlwl hwpwpbpnpiniGGan (wy (7,152,625.5) 1,080,080.8 (8,232,706.3)
136»ACY 44371 T3Y40)
&RCo
2491104 | 9 | 1 |SOGunbuwywl hwpwpetpnipynLGbtn (wy; nwutnhl (7,152,625.5) 1,080,080.8 (8,232,706.3)
4A3T1=2Y40)
31 ATa0
1. _ [A4RY»AC T»031A460 84,000.0 74,000.0 10,000.0
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 3,000.0 3,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 71,000.0 71,000.0 -
- UldoA»f ~ A== -3Y»h 5221 10,000.0 - 10,000.0
2. 2¢31640Al46Y N3U3lYo3icy 22,718.0 22,718.0 -
13303 1>A840A140Y Y»ACY
NE603AT13T4A40AI46YY»AC N» o~ IB&T31
3Yix3A [363J40AI46YY»AC U3 140603y ~
-»A»BUSYSTY»AC GSN&3YU3Y N3U=37
- AYA=6CT 1A=U3RYAANY»A &» 1 313Y 4637 22,718.0 22,718.0 -
N=2USVaY»AC 43 3é izl
T3UUST»AAA&0AIA0YY»ACY
3. T36373A0U3Y " 1»Ox 1317313y 125,000.0 125,000.0 -
T»EYEra -C3Y»AC %3 - 36400
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 125,000.0 125,000.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. 2¢31640Al46Y N3U3Ya3igy 44 302,000.0 302,000.0 -
N3USBIYa3cY IBBU3T>A840A146YY»AC
Ii=3- A»AC Y
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 250,000.0 250,000.0 -
- UTCA=T TasAlasyy»i 3 =flasld al>r=ay1a0 4819 52,000.0 52,000.0 -
T3UUST»AAA0AIA0YY»ACY
5. 44 yCY3Ye3I3Y 31 aCIiY»AC G 3A40UC6 (8,242,706.3) - (8,242,706.3)
DELE il
20p=25A TaoUek £52020DL0 PATE<d 8111 (1,800,000.0) - (1,800,000.0)
PaOK £520a00/£0 BATEOS 8411 (6,442,706.3) - (6,442,706.3)
6. TAY313Y 0"3i4A4iU 55,000.0 55,000.0 -
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 55,000.0 55,000.0 -
T3UUST»AA40AIA0YY»ACY
7. D3E6»3T4AU3Y SBE3T3Y0Y»fi 160,640.0 160,640.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 160,640.0 160,640.0 -
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8

8. U»AzAaasu3icy IA3 - Ai»Ac CAZT3Y3646U 128,200.0 128,200.0 -
- DO TS T3IT3Y 1363(40A146YY»h 4234 8,200.0 8,200.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 120,000.0 120,000.0 -
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY
9. A3AT3ICA Ix3AY»AC - 3YOU3Y 212,522.8 212,522.8 -
1363146A46YY»i
- DO T3 TT3T3Y 1363[a5A145YY»f 4234 18,000.0 18,000.0 -
- CanhwGntp pGnyph wyp SwrwjnLpnLtbbEn 4239 80,392.9 80,392.9 -
- UTCA=T TasAlasyy»i 3l =flasld al»r=ay1a0 4819 114,129.9 114,129.9 -
T3UUST»AA40AIAYY»ACY

2500(05|0 | O pdx2T2 GA=21208 a42pTa=20asAlacy 7,213,194.3 7,143,194.3 70,000.0
31 ATa0

2510|05| 1 | O | Unpwhwln g 5,037,106.4 5,037,106.4 -
&RCo

2511|05| 1 | 1 |Unpwhwnid 5,037,106.4 5,037,106.4 -
31 ATa0
1. Unpwhwlnmpint b L ywGhunwpwluwl 5,037,106.4 5,037,106.4 -
U=30A46U0
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 5,037,106.4 5,037,106.4 -

2530|05 | 3 | 0 | PAC3I= UCe3T3IAC 300a1U3Y 150 &303h 38,701.9 38,701.9 -
&RCo

2531|05| 3 | 1 |G2C 30maw U3y 1»0 &3(u=3A 38,701.9 38,701.9 -
31 ATa0
1. I»T»AC NAsY»A¢ U3uhigu 38,701.9 38,701.9 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 38,701.9 38,701.9 -

2560 |05 | 6 | 0 | PAC3T= UCc3T3IAC &38TE&3YaiAl46Y (3IF 2,137,386.0 2,067,386.0 70,000.0
136»ACY 4431 T3Y40)
&RCo

2561|05| 6 | 1 |Pfc3T= UCc3T3IAC A=RWA3YAiAIATY (S 13e»ACY 2,137,386.0 2,067,386.0 70,000.0
4A3T1=2Y40)
31 ATa0
1. T3Y34 T3A310Y»AC NCUY&E6U ~ 1,597,000.0 1,527,000.0 70,000.0
a3Na3vaoU
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,467,000.0 1,467,000.0 -
- D=1 AT YAS31=(CY 3 YiasA»i 4269 20,000.0 20,000.0 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 40,000.0 40,000.0 -
N=20=3Yo=CY =3¢ wA=ICY T3BUST»AAA0AIAYY»ACY
- b»YU»AC " RCYADAIAGYY»AC TSACT St T»A3YaA4-400 | 5113 70,000.0 - 70,000.0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c 2 g 3 0 dwfuutinh Gk wyuwo E! b Gnuyht
w2 3| E 2 pintebnwihb Swiuutph nbnGuwghnwywl == Jupswlwl pntg Pnlnwhh pyniok
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
2. ZET3N3YU3Y ~ UCc3 T 3U»AlU3Y 46,051.0 46,051.0 -
[36340AIA0Y Y»ii /1»63TCH36C3
- TaUasY3t 1=3é63la0AlasYY»A 4213 46,051.0 46,051.0 -
3. D3E3AZI3I3Y $46- 3A3YY»AC 2,430.0 2,430.0 -
A3NE3YE0U ~ I»A3Yana- iU
- TaUasY3t 1=3é63la0AlasYY»A 4213 2,430.0 2,430.0 -
4. ECH3U3i-»AC éW»0140U0 ~ I301383 1400 291,905.0 291,905.0 -
- D3TAT YAST3T3ICY 3 ViasA»f 4269 125,405.0 125,405.0 -
- UTCA=T TasAlasyy»i 3l =flasld al»r=ay1a0 4819 166,500.0 166,500.0 -
T3UUST»AA40AIAYY»ACY
5. AZ=3640 I»Y13YCY»iC iY363y»ilasl 200,000.0 200,000.0 -
- 2t [3Eé»i 4861 200,000.0 200,000.0 -
2600|06|0 |0 “U2T126202ULU PEU2628a0Ala0U ©1 9,183,398.3 6,650,256.8 2,533,141.5
Tagaolz2t 12&20a0A0a000°s
3 ATasu
2610|06 | 1 | O | "YSISA3Y3(cY BCY3A3A40AI46Y 526,597.1 26,597.1 500,000.0
Eli[el)
2611|106 | 1 | 1 |~ YST3A3Y3(CY RCY=A3Ra0Ala0Y 526,597.1 26,597.1 500,000.0
3 ATasu
1. £YQY313U 1364006 Y»AC u3Y1460 26,597.1 26,597.1 -
- 2t AYA=6CT 1A3U=3/YARANY»A 4639 10,000.0 10,000.0 -
- 2t [3Eeé»fi 4861 16,597.1 16,597.1 -
2. 44AAdR1 BT Cx3YC TASA3ICY B»YU»AC 500,000.0 - 500,000.0
U3Y1U3Y Ny o 3Yoar
phwlywnwnpwdéntpin GGphg gpyywé
pawlhsGEph thnfuhwwnnigdwl hwdwn
phwlhwnwGGaph dGrppbpnd
- Gtlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
2630|06 | 3 | 0 |@A3U3T313A3A40U 3,074,160.2 3,074,160.2 -
Eli[el)
2631|06| 3 | 1 |eA=3U=3r3T=3n3hail 3,074,160.2 3,074,160.2 -
3 ATasu
1. UA3YEC3IC D3YAZE» T 46AI3Y 2,300,622.8 2,300,622.8 -
Yupwdwpn piul wowlgni prudp
CAZT3Y361a0 @A 3Y¢ cASUST3I3A3AU3Y
" cA3N»é36U3Y [A3-ACY TA3U31Ai40
TEYCI3I3Y 3¢31646A13Y IA3-CA
(B3TICAZTT31 EC3%AAA0AIA6Y Y1)
- 2t [3Eé»i 4861 2,300,622.8 2,300,622.8 -
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swfuubph LGN Y = ”
w2 3| E 2 pINLpEIWIRG dwiuutph nuinbuwghunwywl c= Jwpswlwl pynigt | $nnwyht pnigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
2. I»A3136400U3Y ~ $3A- 36U3Y 773,537.4 773,537.4 -
Gypnwuwlwl puwlyh wowlgnipjuwdp
CAZT3Y36ial @A 3Y¢ cASUS3T3I3A3AU3Y
pwpbjwydwl épwaghn (wuwuindhpwlyws
EC31afiadAlacyy»h)
- 2t I3Eeé»fi 4861 773,537.4 773,537.4 -
2640|06 | 4 | O | 64046Y»AC t4063 FandsU 2,180,973.0 1,973,973.0 207,000.0
Eli[el)
2641|06 | 4 | 1 |64040Y»AC Fate=Tanadu 2,180,973.0 1,973,973.0 207,000.0
3 ATasu
1. 2AT30CY (4663 T4AAGAIZY 63Y6C 185,000.0 - 185,000.0
NCUY3Yai4 - 460
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 185,000.0 - 185,000.0
2. 2AT30CY F4663T4AA0AIZY 63Y6C 1,971,973.0 1,971,973.0 -
B3N3-4AIU3Y ~ §3N&3YU3Y
BRE3T3Y0Y»A
- 2t ISEé»f 4861 1,971,973.0 1,971,973.0 -
3. P»YOu»AC -»03Ai»E 1 313Y 4663 raAacl 9,000.0 2,000.0 7,000.0
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 2,000.0 2,000.0 -
a3fasval
- b»YU»AC " RCYABAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 7,000.0 - 7,000.0
4. §°Au30r40E! 6 ~A B»YurAC Yaha - 46U 15,000.0 - 15,000.0
- b»YU»AC " RCYABAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 15,000.0 - 15,000.0
2650|06 | 5 | 0 | "YSI3A3Y3(CY BCY3A3A40AIBY ~ TaU46Y3F 8,000.0 - 8,000.0
T36346AIacYY»AC - T&T N» 13341313y
YSE3. [30Y 3BE3T3Y0Y»A
Eli[el)
2651|06| 5 | 1 |7 YST3A3Y3(CY RCY2AZAAAISY ~* Talasy3t 8,000.0 - 8,000.0
1363[a5Ala0YY»AC - TAT N» 1 3Hhar3T3Y
Y3E3-I3(CY SRE3T3VUY»i
3 ATasu
1. by Yu»AC = BCYA6AIA6YY»AC N» 1 3%a 1 U3Y 8,000.0 - 8,000.0
BRE3T3Y0Y»A
- UBE=. I3 T3rar3T3Y I3Eéri 5134 8,000.0 - 8,000.0
2660|06 | 6 | 0 | “YSISA3Y3CY BCY3AZA40AIBY ~ TaUAGY3E 3,393,668.0 1,575,526.5 1,818,141.5
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
Eli[el)
2661|06| 6 | 1 |”YST3A3Y3(CY RCY2AZAAAISY ~* Talasy3t 3,393,668.0 1,575,526.5 1,818,141.5
1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)
3 ATasu
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. Pwquiwplwlwpwa 2GGpGpH hwpp 245,984.0 245,984.0 -
T3YCUY»AC I»A3Yaha- iU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 245,984.0 245,984.0 -
a=N&=vail
2. Puqudwplwluwpwl 26Gplph plip 294,600.0 43,600.0 251,000.0
T3YCUY»AC I»A3Yaha-ail
- D3 YAST3T3(CY 3 ViasA»h 4269 43,600.0 43,600.0 -
- b»YO»AC * RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 251,000.0 - 251,000.0
3. “3I3cy w3A3IaY»Ac 1,779,311.0 478,909.0 1,300,402.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- b»YU»AC  T3640l6Y»AC AYAS36CT Yana- U 4251 208,909.0 208,909.0 -
a=N&=vail
-D3TA YAST3T3(CY 3 ViasA»h 4269 50,000.0 50,000.0 -
- Untpuhnhwlbp ny wbunwyw (ng hwdwyGpuwyhl) ns 4521 20,000.0 20,000.0 -
YCY3YE3T3Y T3%UST»A&40AIA0YY»ACY
- UTCA=T TasAlasyy»i 3 =fadld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AAA0AIA0YY»ACY
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 220,000.0 - 220,000.0
- P»YU»AG ~ RCYAIAIAYY»AC TBACT3E T»A=VaRa-a0 | 5113 1,021,002.0 - 1,021,002.0
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 59,400.0 - 59,400.0
4. Puqiwplwluwpwl 26Gpbnh pwpblwnqdwl 500,251.9 350,251.9 150,000.0
3F 3RE3T3Y0Y»hA
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 154,486.9 154,486.9 -
a=N&=vail
-D3WAT YA 213y 3 YidsA»i 4269 11,765.0 11,765.0 -
- Untpuhnhwlbp ny wbunwyw (ng hwdwyGpuwyhl) ns 4521 184,000.0 184,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 150,000.0 - 150,000.0
5. 2A3(cY 1'3646/6Y»AC B3N=-4ATA6U ~ 320,000.0 320,000.0 -
a3Na3vaoU
- 2 I3Eé»h 4861 320,000.0 320,000.0 -
6. T3A63/31Y»iAC E3N&3Y4iU 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 26,781.6 26,781.6 -
N=20=3Yo=CY =3¢ wA=ICY T3BUST»AAA0AIAYY»ACY
7. T3U3A3Y64060Y»AC = 3JE BCYE6AIA6YY»AC 110,000.0 110,000.0 -
I»A3YAana- 460~ - 203531400
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 110,000.0 110,000.0 -
a=N&=vail
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ” anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 89,898.3 - 89,898.3
- b»YU»AC ~ RCYABAIAGYY»AC TSACT St T»A3YaAa-40U | 5113 89,898.3 - 89,898.3
9. 1404003 - I»AC 136400400 ~ i»A=3Y&Ad - 40U 26,841.2 - 26,841.2
- b»YO»AC " RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 26,841.2 - 26,841.2

2700070 | O 2gadz=2a2pascAlasy 165,000.0 15,000.0 150,000.0
31 ATa0

2710|07 | 1 | O | “ABI=3I3Y 3&A3YuY»A, 63A0»A 100,000.0 - 100,000.0
E3AU3TaAacUuY»hA
&RCo

2711107 | 1 | 1 | »0=-aR13T3Y S&A3YUY»h 100,000.0 - 100,000.0
31 ATa0
1. 2640c383N313Y I3BU31»A840AI40YY»AC 100,000.0 - 100,000.0
hwdwp pd>)Yuwlul ywppwdnpn dGGph
dbrppbpnid
- 2[E U»U»Y3Y»h " 63AUS TaRasUY»h 5129 100,000.0 - 100,000.0

2760|07 | 6 | O | 2640¢c=343NaoAlacy (3l 13é»ACY 65,000.0 15,000.0 50,000.0
1&3113Y40)
&RCo

2761|07 | 6 | 1 |2640¢=2a3N=3T3Y N3A3TCo 1=363{40Al40YY»A 65,000.0 15,000.0 50,000.0
A= - finfi
31 ATa0
1. Upnnowwwhwlwl opiGlyunGEnh 50,000.0 - 50,000.0
Neuy=Yana - 46U
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 50,000.0 - 50,000.0
2. _AT3ABUBTEEC N» T334 W E0AI46YY»AC 15,000.0 15,000.0 -
CAZT3Y3640U
- @3eY3 -0 3T3Y 1363(aAlasy Vi 4241 15,000.0 15,000.0 -

280008 |0 | O P20 £eT, @p2TaolA i Taal 3,423,173.5 2,466,693.5 956,480.0
31 ATa0

2810|08| 1 | 0 |P3Y-67C " 684ATC [3634dAla6YY»A 830,163.6 418,683.6 411,480.0
&RCo

281108 | 1 | 1 |D3Y-6WC = eQ4aRWC 1=363{a0AlasYY»h 830,163.6 418,683.6 411,480.0
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 115,399.9 115,399.9 -
13303 1»A&a0U0
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 8,937.4 8,937.4 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 106,462.5 106,462.5 -

29
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

2. <wlquinh qnuinplbph L qpnuwyghlbbph 666,763.7 255,283.7 411,480.0
136400400 46 33N43Ya0U
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 15,283.7 15,283.7 -
a=N&=vail
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 40,000.0 40,000.0 -
- UTCA=T TasAlasyY»i 3l s=fasld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
- b»YU»AC ~ BCYABAIAGYY»AC T3é456400 5112 380,000.0 - 380,000.0
- b»YO»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 31,480.0 - 31,480.0
3. D» [BYT3NABE3AZ3IC B3N=3- 41400 48,000.0 48,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 48,000.0 48,000.0 -

2820|08 | 2 | O |@B3T40A3IcY [363aoAladyY»h 2,532,989.9 1,987,989.9 545,000.0
&RCo

2821|108 2 | 1 |TASISASYY»f 609,257.7 364,257.7 245,000.0
31 ATa0
1. TASIIA3Y3CY [363J46Ala6YY» i 364,257.7 364,257.7 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 364,257.7 364,257.7 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. YASI3A3YY»AC NCUY3YAAE - 46U 245,000.0 - 245,000.0
- b»YU»AC " RCYABAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 245,000.0 - 245,000.0

2822|108 | 2 | 2 |A3Y-3A3VY»i ~ 646636A3NY»A 234,202.4 234,202.4 -
31 ATa0
1. A3Y-3A3Y3cy [363J46AIa6YV»h 234,202.4 234,202.4 -
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 234,202.4 234,202.4 -
(N3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2823|108 | 2 | 3 |Uwynyph wnbbn, wynidpbtn, yaGupnGakn 85,108.2 85,108.2 -
31 ATa0
1. D3U3Ya3icY UBZTAGIAC ~ 3y31 A3U3Y6¢ 85,108.2 85,108.2 -
I33BU31»A8400
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 85,108.2 85,108.2 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2824|108 | 2 | 4 |2 UB3TAAZICY T3S T»AAA0AIA6YY»A 1,176,205.8 876,205.8 300,000.0
31 ATa0
1. DBZTE0A3ICY UCcA63E400Y»AC 644,797.8 644,797.8 -
CAZT3Y3640U
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 4,400.0 4,400.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 49,858.7 49,858.7 -
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

- 2[f AYA=6CT 1A3U3RYAANY»A 4639 590,539.1 590,539.1 -
2. UGhnwlwpwlwlwl uyqgnt 231,408.0 231,408.0 -
040031A40AI46YY»A
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 231,408.0 231,408.0 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
3. Ybhnwlwpwlwluwl wygnt hhdGwanpngnid 300,000.0 - 300,000.0
- b»YU»AC " BCYASAIASYY»AC TSACT 3t T»A3Yana-aiU | 5113 300,000.0 - 300,000.0

282508 | 2 | 5 |2fii»eW 401,515.8 401,515.8 -
31 ATa0
1. CABABU3AT»E1C = E3A3BAT»ETC 93,712.3 93,712.3 -
N3Ux»A - Y»i
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 93,712.3 93,712.3 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
2. ABI»A3I3Y Y»AI3[36460Y»A 307,803.5 307,803.5 -
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 307,803.5 307,803.5 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2827|108 | 2 | 7 |PAIRZAOBYY»AC  URSTAASICY SAA»UY»AC 26,700.0 26,700.0 -
»AST3Y - Yail —~ a3Na3vail
31 ATa0
1. DAOB3A03YY»AC I»A3Yahia-4il ~— 26,700.0 26,700.0 -
a3Na3vaoU
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 13,700.0 13,700.0 -
- P»YU»AC " T284016Y»AC AYAS36CT Yana- aU 4251 13,000.0 13,000.0 -
a=N&=vail

2830|08 | 3 | 0 | &31¢4 ~ N»é4ié 1 3N304A1400Y»AC 36,000.0 36,000.0 -
N»é3[031U3Y ~ NA3T3A315313Y
1363464146V Y»i
&RCo

2831|08 | 3 | 1 |D»éatew=¢=1CaN=04ar1aiuY»h 36,000.0 36,000.0 -
31 ATa0
1. 2303038»T3A3YC 3E3T3Y0UY»AC 36,000.0 36,000.0 -
[nLuwpwln g
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 36,000.0 36,000.0 -

2840|108 | 4 | 0 | TAGY3I3Y =~ N363A31313Y 3ff 24,020.0 24,020.0 -
[36340Al46Y Y»A
&RCo

2843 |08 | 4 | 3 |TRAYST3Y " (=2e3A3T3T3Y 3 1=363(40Ala5YY»h 24,020.0 24,020.0 -

=t ATai0
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

ey
= 2 A =) pwdhaltnh, fudptph L nwubph, hOswtu Gub E AV A
G253 23 mmgtnuwho suuthnontusghowyws | EE AT yunguiue prigt | pnonuing e
LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. 2Y13(3T640AI3Y Ix3AY»A 24,020.0 24,020.0 -
- UTCA3T T40Ala0YY»fi 3k R=40lA all»1m34Y140 4819 24,020.0 24,020.0 -
I3%LU=T»NAA0AIA0Y Y»ACY

2900|090 | 0 TaAaAUasU 23,707,658.9 22,153,400.3 1,554,258.6
=1 A4

2910|109 | 1 | 0 |\USBE3140a6313Y = T3AA=313Y AYIN=3Yaoh 13,240,035.2 12,940,035.2 300,000.0
1iA4sAiaey
ance’

2911|109 | 1 | 1 |USE=14/46=3T13Y TnAaAlasY 6,847,740.0 6,547,740.0 300,000.0
=1 A4
1. USE318A46313Y 406466460 6,547,740.0 6,547,740.0 -
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 6,547,740.0 6,547,740.0 -
(R=0=lYU=ICY) T3S T»AAA0AIAYY»ACY
2. UBE318A46313Y 46646603Y 300,000.0 - 300,000.0
13303 »>A803Y N3U3A 3YNAZA»BT - 46loC
dbrp pbpnid
- 2 U»U»Y3Y»f " 83A0S TaRAUY»h 5129 300,000.0 - 300,000.0

2912|109 | 1 | 2 | T3AAST3Y AYIN=YaA TRA&SAIATY 6,392,295.2 6,392,295.2 -
=1 A4
1. D3YASIAAZT3Y 406406460 5,766,193.7 5,766,193.7 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 5,766,193.7 5,766,193.7 -
2. D37 461 1hAdoAlasy 164,023.9 164,023.9 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 164,023.9 164,023.9 -
3. U»A=3é313Y IAAdoAlacy 462,077.6 462,077.6 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 462,077.6 462,077.6 -

2920|109 | 2 | O |@CeY=3T137- AYIN3YaiA TAA46Al46Y 7,124,009.9 7,124,009.9 -
ance’

2921|109 | 2 | 1 |BCUY3T=Y AY1N=3Yasn TrAasAlasY 6,813,678.2 6,813,678.2 -
=1 A4
1. D3YASIAAZT3Y 406406460 6,277,198.8 6,277,198.8 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,277,198.8 6,277,198.8 -
2. D37 461 1hAdoAlasy 162,411.9 162,411.9 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 162,411.9 162,411.9 -
3. U»A=3é313Y IAAdoAlacy 359,121.3 359,121.3 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 359,121.3 359,121.3 -
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
= El 3 0 Swhuubiph tGnBuwghtwYw = > 0 pinLot Gnuyh(
wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9
4. CA»T4I=3Y 1hAdoAlasy 14,946.2 14,946.2 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 14,946.2 14,946.2 -
2922109 | 2 | 2 |@CeY=3T=3d- (FACT) AVIN=Vasn TrA&sAIASY 310,331.7 310,331.7 -
3 ATasu
1. D3YASTAAZI3Y 406406400 254,419.5 254,419.5 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 254,419.5 254,419.5 -
2. D37 461 17AdoAlasy 36,270.6 36,270.6 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 36,270.6 36,270.6 -
3. U»A36é313Y InAdiAlasy 1,400.8 1,400.8 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,400.8 1,400.8 -
4. CA»T4I=3Y 1hAdoAlasy 18,240.8 18,240.8 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 18,240.8 18,240.8 -
295009 | 5 | O |Aé7 UBI3A13TY»AC 4136313A- 140 2,764,650.1 2,060,391.5 704,258.6
TAA&oAl46Y
anco
2951|09 | 5 | 1 |2AW3147463T3Y 136w C3i3Ta0Alasy 2,764,650.1 2,060,391.5 704,258.6
3 ATasu
1. 2ZAT318A46313Y 1361 C3A3140AlacY 2,056,147.4 2,053,147.4 3,000.0
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 48,986.8 48,986.8 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 2,004,160.6 2,004,160.6 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
- 13AE213Y 63A0=T4RAUY»A 5122 3,000.0 - 3,000.0
2. ZAT318A46313Y I3BU3 I»A840AI46Y Y»AC 701,258.6 - 701,258.6
NeUY=3Yana - 46U~ i»A3Yana- 460
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 701,258.6 - 701,258.6
3. «<wlynp Yngmwly Yppwhwdwihn MNUY- 7,244.1 7,244.1 -
400 BAT318A406313Y 1360 C3AZT140AI3Y
IEpU=31»A8400 (A3 1 iCAZIT31
EQ 2347404140 YY»H)
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 7,244.1 7,244.1 -
2960|09 | 6 | 0 | TAAZ0AIZYA TA3U31A740 0A=3Y13T 578,963.7 28,963.7 550,000.0
[36346A46YY»HA
anco’
2961|09 | 6 | 1 | TAAAAISYA WASU=31AT4A0 0AZY13T 1=363{40Ala0YY»h 578,963.7 28,963.7 550,000.0

=t ATai0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA
[ 2 3 =t U»YA
wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9
1. UBE318A46313Y N36 131 40AI46YY»AC 569,263.7 19,263.7 550,000.0
NCUY3Yafi4 - 460 = i»A3YaAa - 460
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 19,263.7 19,263.7 -
a=N&=vail
- b»YO»AC " RCYADAIAGYY»AC TSACT St T»A3YaR4-40U | 5113 550,000.0 - 550,000.0
2. BAAGSI3YY»AC GFCUAC313Y»AC — 3 9,700.0 9,700.0 -
UCcd63640UY»AC 13303 1»A8400
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 9,700.0 9,700.0 -
3000(10|0 | O €a0k=2E2T20 a42pT1a=20a0Alacy 2,349,111.7 2,349,111.7 -
31 ATa0
3070(10| 7 | O | 846C3E313Y N3U1ail 3ATAYA0AIAGYY»A (3IF 583,104.6 583,104.6 -
13»ACY 4831 T3Y40)
&RCo
3071| 10| 7 | 1 |@40C3E3T3Y N=wasT SAwaYasAlasyY»i (3l 583,104.6 583,104.6 -
13¢»ACY 83T T3Y40)
31 ATa0
1. 46C338»6 3Y3E3NAT AYT3YCuY»AC 5,767.0 5,767.0 -
»A»E3Y»AC N3Y - 6 1C IB3U31»A8460
- aliC T e3AUS TaRasUY»AC TSA0ST3tasAlasY 4216 2,572.0 2,572.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,175.0 2,175.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 1,020.0 1,020.0 -
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 27,890.0 27,890.0 -
E40C338»8 3YSE3NAT AYT3YCuY»AC
N3U3A Na603AT=3T4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 27,890.0 27,890.0 -
3. 840C3t38»6 BY3A3NAT AYT3YCUY»icy 220,982.6 220,982.6 -
VAYSI3Y " NCBSWSIC Qf»AcY S¢31046Ala0Y
- aluC  e3AUS TaRaUY»AC TSA0ST3tacAlasY 4216 2,500.0 2,500.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 5,200.0 5,200.0 -
- D3TAT YAST3T3(CY 3 ViasA»h 4269 9,990.0 9,990.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 179,082.6 179,082.6 -
- W Gwwuwnbbp pinuobihg 4729 22,610.0 22,610.0 -
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 1,600.0 1,600.0 -
T3UUST»AA40AIA0YY»ACY
4. 840C3E3E»6 3Y3E3N4T 3Y03Y6 300,585.0 300,585.0 -
c31640AI46Y
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 4,320.0 4,320.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,440.0 1,440.0 -
- DA YA 213y 3 YidsA»i 4269 1,825.0 1,825.0 -
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Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

- Untpuhnhwbp ng Lubme|uJ~Q (ng hwdwybpwyhl) ng 4521 2,400.0 2,400.0
YCYBYEST3Y 13003 T»AAA0AIA0Y Y»ACY
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 9,600.0 9,600.0
- W Gwwuinbbp pinuobihg 4729 29,500.0 29,500.0
- UTCA=T TasAlasyY»i 3 =fasld al»r=ay1a0 4819 251,500.0 251,500.0
T3UUST»AA40AIA0YY»ACY
5. DIEIA3I3I3Y I3BU3I»A840AI46Y V»ACY 27,880.0 27,880.0
Sc31640AI46Y
- UTCA=T TasAlasyy»i 3l =fladld al»r=ay1a0 4819 27,880.0 27,880.0
T3UUST»AA40AIA0YY»ACY

3090(10| 9 | 0 | 846C3E313Y &3BUA3YadAlasY (3iF 1,766,007.1 1,766,007.1
13»ACY 4831 T3Y40)
&RCo

3091(10| 9 | 1 |846C3EIT3Y A3RWA3Va0AlAY (3 136»AcY 302,359.1 302,359.1
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 302,359.1 302,359.1

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 287,849.5 287,849.5
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 4,412.8 4,412.8
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 161.9 161.9
- T2AC 1363{a0AlasYY»h 4214 2,097.5 2,097.5
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 750.0 750.0
- U»AUCY - &fT4i0460Y»f 4221 48.0 48.0
- @HU»YRY»AC 6303 TARaUY»AC AYA=6CT 4252 1,161.0 1,161.0
Yafia- &l - &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 3,872.9 3,872.9
- TASYe&ART3ICY YiaoA»f 4264 1,566.3 1,566.3
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 305.4 305.4
- 2t ISEé»f 4861 133.8 133.8

3092| 10| 9 | 2 |@4OC3E3T3Y 3R W ASYAAISYA WA=U=31AT40 1,463,648.0 1,463,648.0
0A3Y13T 1=363(40Al46YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
1. @»7313Y NCUY3ATY»AC 1,249,512.0 1,249,512.0
I'33U31»A840A146Y Y»AC SRE3TA0Y»AC
E40C33T13Y ~3A»Adi 343Naidil
(BT ICAZTT3I £C3%4740AI40YY»Fi)
- W Gwwuinbbp pinuotihg 4729 1,249,512.0 1,249,512.0
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= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu
Ol CL
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swhuubph wGnGuwghnwywa = ” 0 pinLot anwihG
w = 2| 5 & Nty Gwiuutinh inGuinbuwghunwlywt c Z Junswyw pniet | $nlnuyhl pynigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8
2. 2640ca0AI3Y 383N4T= - A46AI4cY 214,136.0 214,136.0 -
- 283413 -A3T3Y I3Eé»A 4215 214,136.0 214,136.0 -
3100110 | 0 pAEGU=2T=20U ~2A£0U°8£U a_ 28120 6,047,307.0 6,072,307.0 3,000.0
a2paséT20L0U uau _°s
3 ATasu
3110(11| 1 | O | PP IBé373A46AI3Y ~~ N3U3IYuY»A¢ 6,047,307.0 6,072,307.0 3,000.0
&3N46613icY yayr
&RCo
3112(11] 1 | 2 |PD NSBUSIVUY»AC &3Nasen=ICY yayr 6,047,307.0 6,072,307.0 3,000.0
3 ATasu
- a3Nasen=ICY UCcasY»h 4891 6,047,307.0 6,044,307.0 3,000.0
-{wunyuwgntd wwhiunwhb $nlnhg $nlnuwhb pjniok X - 28,000.0 -
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PSI»EI3IN7
Of "3Y 1I3030C ST3-3Y4)

2013 pqwywlh nb_ymbdpbnh 25-h

N 97-U anaru=y
20lae=T 1

©5°120£ 2014 A12T20£ ~Uate*£ 128422120 21 taU _ 2UEU g28°8£0 P2TT20a00U°CSA" AeT ~Uate°T2UEU 12EE&°8K
Tasize=120 1 TUTee27M4£12120 28212819020
2521 20U g202¢258°T282UL (28200 ©5°12UE 12852120 pd=2UU°sL) g=2eai

(N=%=f 1A3UY»RAT)

= ol “laie»W=(CY TSES»AC -anT=63T3Y 136¢313/-03Y | 3 ATasu
= = 59 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA
o2 2 E ,:3 pInLpbnwihb dwiuutiph inbwnbuwghunwywb c = Junswywb pnigt | $nlnuyhl pyniet
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
AU _2@g°UA T2Eé°5 45,755,000.6 47,149,942.2 (1,366,941.6)
2100/01/0 | O AU _p=20as6 ~UacUAL 2082040 3,030,576.7 2,631,381.1 399,195.6
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢chA U3AUCYY»A, 2,633,176.7 2,527,981.1 105,195.6
S»T313Y I36373A40U, yCY3YVE3I3Y
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGGGp,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 2,633,176.7 2,527,981.1 105,195.6
2631340
31 ATa0
1. T36373AU3Y U3A0YC 83NE3Y4a0U 2,603,176.7 2,527,981.1 75,195.6
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 1,335,490.0 1,335,490.0 -
NS T»E3Tx3AY»A
- &3-S TRaUY»A, 1ASUST3Y EASE4&ieaiUY»1 4112 120,194.1 120,194.1 -
N3wasT Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 67,958.1 67,958.1 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 5,676.9 5,676.9 -
- T3AC 1363(a0AlasYY»fi 4214 60,995.5 60,995.5 -
- 283413 -A3T3Y I3Eé»A 4215 1,646.0 1,646.0 -
- aluC  e3AUS TaRasUY»AC TSAOST3tacAlasY 4216 100,800.0 100,800.0 -
- 2Aw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 50,000.0 50,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 1,275.0 1,275.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 33,466.8 33,466.8 -
- 2RESTST33UC UBEY3-Cr3T3Y 136 - 3603Y 4233 9,240.0 9,240.0 -
1=3¢3{a0AlasYY»h
- DO T3 TT3T3Y 1363[a5A145YY»f 4234 28,733.6 28,733.6 -
- T363T3E3T3Y 1363a0AlasYY»i 4235 10,000.0 10,000.0 -
- U»AT3(=064068313Y 13Eé»i 4237 81,617.5 81,617.5 -
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Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

[ 2 3 =t U»YA

e pINLobWIhG dwiuutph nbunGuwghnwywl = Jwpswywh pneet | $nlnwihl pnuet

LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 256,452.5 256,452.5 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 2,500.0 2,500.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 209,813.0 209,813.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 29,168.1 29,168.1 -
- TASYE AT 3ICY YiaoA»f 4264 68,226.0 68,226.0 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 5,720.0 5,720.0 -
- DA YA 213y 3 YidsA»i 4269 6,000.0 6,000.0 -
- W Gwwuinbbp pinuotihg 4729 37,050.0 37,050.0 -
- A3A31CA Tx3AY»h 4823 958.0 958.0 -
- 2[f I=Eé»h 4861 5,000.0 5,000.0 -
- TABYEAAAT3(CY 63hu=Tanaiuy»h 5121 18,000.0 - 18,000.0
- T 3EST3Y 6303 TanaiUY»h 5122 57,195.6 - 57,195.6
2. duwpswlwlb opibyinGlinh hhoGwlnpngnid 30,000.0 - 30,000.0
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 30,000.0 - 30,000.0

2150|101 | 5 | O |LanhwGnip pGniyph hwlpughG 294,000.0 - 294,000.0
T36340AIacYY»AC - T&T N» T3%41313Y
YSE3.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwapwihb SwewnienLbGbtnh 294,000.0 - 294,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 254,000.0 - 254,000.0
- USE=- 1213 r3T3Y 1SEé»f 5134 254,000.0 - 254,000.0
2. OA"3Y 03030¢ -FE3idA N3 T313-I¢ 6,000.0 - 6,000.0
xB- AT EU
- USE=- 1213 r3T3Y [SEé»fi 5134 6,000.0 - 6,000.0
3. Y47 C3idAU3Y ~ 136406383 1U3Y 9,000.0 - 9,000.0
Y3E3- I»AC UB3T14a6U
- USE=- 1213 r3T3Y [SEé»fi 5134 9,000.0 - 9,000.0
4. 9303038CY3T13Y Y»A1AaoU3icy 25,000.0 - 25,000.0
13- A»Ag UB3146U
- USE=- 1213 r3T3Y [SEé»fi 5134 25,000.0 - 25,000.0

2160| 01| 6 | O |L4anhwGnip pGnyph hwlpuyghG ) 103,400.0 103,400.0 -
T36340AIacYY»i (3IF 136»AcY 483 113Y40)
anco’
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swfuubph LGN Y = ” anwihG
wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
LT 135337 U3Y a1 T3IY»AC 3YT3YaiUY»iiA £
1 |23 |4 5 6 7 8 9
2161|101 | 6 | 1 |COnhwGntp pOnyph hwlpwihG SwewynieNLGbGEn (wy 103,400.0 103,400.0 -
13¢»ACY 83T 13Y40)
3 Ara0"
1. _ CU46UY»A, N3I631C0450Y»A, 13T 3A3YC 25,000.0 25,000.0 -
4A4BAGUY»AC "~ TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn GEpyuywgllihu
E3NU3Y I3 ix3A460Y»i
- A3A31Ch Tx3AY»h 4823 25,000.0 25,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 78,400.0 78,400.0 -
-ASYEU3Y, -YIN3TU3Y
T0» 13T T40AI3Y TA3U31A03Y N» 71
I3&T31 ix37460Y»A
- @3eY3 -0 3T3Y 1363(aAlasy Vi 4241 23,400.0 23,400.0 -
- A3A31Ch Tx3AY»h 4823 55,000.0 55,000.0 -
2200[02|0 | 0 a=2ptaz0acAlasy 20,000.0 20,000.0 -
3 Ara0"
222002 | 2 | 0 |8303036¢313Y 381 E3Ya0Ala6Y 20,000.0 20,000.0 -
£l
2221102 | 2 | 1 |@=03036C3T3Y &3 A3YasAlasy 20,000.0 20,000.0 -
3 Ara0"
1. 3030360313y 83U E3YA0AI3YY 20,000.0 20,000.0 -
Sc31640AI46Y
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 20,000.0 20,000.0 -
2400(04|0 | 0 TUTe82T20 p262"25a0A0a500°8 8,805,770.0 14,416,165.8 (5,610,395.8)
3 Ara0"
2420|04 | 2 | O | /4603 1Y U »E40A146Y, 3Y 1363y 350,000.0 - 350,000.0
TYU»éa0Alacy, OTvaneaolliasy -
anéaniacAlacy
£l
2424|104 | 2 | 4 |&éa-&il 350,000.0 - 350,000.0
3 Ara0"
1. Aé4-U3Y 63Y6C 136406460 ~ 350,000.0 - 350,000.0
I»A3Y4A4 - 46U
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 350,000.0 - 350,000.0
245004 | 5 | 0 | TA3YE&4AT 15,795,918.3 13,523,607.8 2,272,310.5
anco
2451|104 | 5 | 1 |O03Y=2a3A(S(CY wASYeAaRT 8,101,310.5 5,869,000.0 2,232,310.5

=t ATai0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pintebiinuhh dwiuubph inbGuinbuwghunwywb e = Jwnswywl pnigt | dnlnwihl pyniet

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

1. Uupwywn-punbu dwdlp Jbpwlnpngnid 4,584,000.0 4,584,000.0 -
" &3NE3YAU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 4,584,000.0 4,584,000.0 -
a3Na=vail
2. Uupuwyin-punnlyw dwédyh hhdGuwlnpngnid 350,000.0 - 350,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-aiU | 5113 350,000.0 - 350,000.0
3. OUABUBA»AC I»ASYAAE - 46U 23,000.0 - 23,000.0
- P»YU»AG ~ RCYAAIAYY»AC TBACT 3t I»i=Vana-al0 | 5113 23,000.0 - 23,000.0
4. D»Y3E3U»AC I»A3YEA4 - 40U 170,000.0 20,000.0 150,000.0
- P»YU»fiG " T2640l6Y»AC AYAS36CT Yaria- 4ol 4251 20,000.0 20,000.0 -
a3Na=vail
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 150,000.0 - 150,000.0
5. D»WCATY 3Y640UY»AC 136466460 587,000.0 15,000.0 572,000.0
I»A3YAahi4 - 46U
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 15,000.0 15,000.0 -
a3Na=vail
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 572,000.0 - 572,000.0
6. T3UAc3cY 136406 I3 10Y»AC 110,000.0 90,000.0 20,000.0
I»A3T3Y- Y460 ~ §3NE3Y46U
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
- P»YU»AG ~ RCYAAIAYY»AC TBACT3E T»i=Vana-4l0 | 5113 20,000.0 - 20,000.0
8. @31[ai0CY»A¢C ~ +~a046Y»Ac 817,810.5 - 817,810.5
I»A313640640U "~ NCUY3Y&AE - 46U
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 817,810.5 - 817,810.5
9. 64046Y»AC A3NE3YA6U » T B3N3 - 4AT400 60,000.0 60,000.0 -
- P»YU»iG " T2640l6Y»AC AYAS6CT Yaria- 4ol 4251 20,000.0 20,000.0 -
a3Na=vail
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 40,000.0 40,000.0 -
10. 2ZiTaI3/3Y31»0C 13403 1»A803Y 700,000.0 700,000.0 -
1363/46Ala6Y
- 2[f 1=Eé»h 4861 700,000.0 700,000.0 -
11. A»03N3AA3TY»AC 136466400 40,000.0 - 40,000.0
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 40,000.0 - 40,000.0
12. UYwnnpriulbpnid pbpwhwppwllbbph 30,000.0 - 30,000.0
383N4i46U
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 30,000.0 - 30,000.0
13. 64046Y»AC, NABA3AZTY»AC ~ 3i-CY»AC 229,500.0 - 229,500.0

I3N=371anaoy
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA
= = 3 =g U»YA
wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 200,000.0 - 200,000.0
- UlasA»f =" A3A= - 3Y»f 5221 29,500.0 - 29,500.0
14. Uupwywb pwlGlh wowlgnipjwdp 400,000.0 400,000.0 -
CA3T3Y36i40 u30303icY
»YABI36460 I3 10Y»AC ~ u3030¢ 1346V
B30 - 30U3Y Y»A1A46U3IcY TA=-AC CAS6U3Y
UCcd63640UY»i
- W Gwwuinbbp pinuobihg 4729 400,000.0 400,000.0 -
2455| 04 | 5 | 5 |E&A0ATST3R3AZICY * 3 wASYE 4R T 7,694,607.8 7,654,607.8 40,000.0
3 ATasu
2. OA"3YC U» WAEREFCT»YC 3BE3T3Y0Y»A 2,512,834.6 2,512,834.6 -
I335U31»A8400 (A3 T ICASTT3I
EQ 2347404140 YY»H)
- Untpuhnhwbp ng $hOwbuwywl wtnwyw 4511 2,512,834.6 2,512,834.6 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY
3. I»A-»>TYIB (I TASTA3YER4ATAT 466,916.3 466,916.3 -
400 4A3+4E31AU3Y [363/46Ala6Y
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 466,916.3 466,916.3 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. I»A313640003Y ~ $3A- 36U3Y 1,656,335.5 1,656,335.5 -
Gypnwuwlwl puwlyh wowlgnipjuwdp
CA3I3Y36740 ©A3YC U» TAEAEECT»YC
I»A3136400U3Y »AlA4A [A3-CA
(B3TICAZTT31 EC334AA0AIA6Y Y»A)
- 2k I=Eé»i 4861 1,656,335.5 1,656,335.5 -
5. GYnpnwwlywil Gepnpntdughl pwllyh 1,635,781.5 1,635,781.5 -
wowlygni pruid, wlwawgynn Gplwl
U» TAEREFCH»YC I»AST36400U3Y »AlAant
[A3-Ch (A3 T ICA3IT3I FC3%4R40AI46YY»H)
- 2k I=Eé»i 4861 1,635,781.5 1,635,781.5 -
6. CiIAAAZ13Y UC46AI3Y N3A"3YA46AI=Y 1,382,739.9 1,382,739.9 -
Gbpnpniduyhl 6puigph wowlgnipjudp
CA3I3Y36740 ©A3YC U» TAAAEECT»YC
I»A3136400U3Y »AlAEAL 1A3U3BYAANZICY
IA3-Ch (A3 T TCA3IT3I FC3%4R40AI46YY»H)
- 2t ISEé»f 4861 1,382,739.9 1,382,739.9 -
7. §CA3YC (i T T AT A3YERAAT ! 6 A 40,000.0 - 40,000.0
»YASI36400 I3 10Y»AC YaAE - 46U
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 40,000.0 - 40,000.0
2470|104 | 7 | 0 |Uy plwqudwnlbn 15,000.0 15,000.0 -
Eli[el)
2473|104 | 7 | 3 |2pnuwnontpintl 15,000.0 15,000.0 -
3 ATasu
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

= El 3 0 dwluubinh tGunbuwghnwlw = > 0 pinLot Gnuyh(

w2 2| E 2 pnLebnwih( dwiuubnh wlnbuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

1. 2pnuuippgni piul quipquigntd 15,000.0 15,000.0 -
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 15,000.0 15,000.0 -

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbpnipin GGG (wy (7,355,148.3) 877,558.0 (8,232,706.3)
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwpetnnipntGbEn (wy nwubph (7,355,148.3) 877,558.0 (8,232,706.3)
4A3T1=2Y40)
31 ATa0
1. _ [A4BRY»AC T»031A460 81,000.0 71,000.0 10,000.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 71,000.0 71,000.0 -
- UldoA»f ~ A== -3Y»h 5221 10,000.0 - 10,000.0
2. 2¢31640Al46Y N3U3lYo3icy 22,718.0 22,718.0 -
13303 1>A840A140Y Y»ACY
N&GOZAT3 F47Ad0AIa6YY»AC Ny a” IB& 1731
3Yix3A [363J40AI46YY»AC U3 140603y ~
-»A»BUSYSTY»AC GSN&3YU3Y N3U=37
- AYA=6CT 1A=U3RYAANY»A &» 1 313Y 4637 22,718.0 22,718.0 -
N=2USVaY»AC 43 3é izl
T3UUST»AAA&0AIA0YY»ACY
3. T36373A0U3Y " 1»Ox 1317313y 125,000.0 125,000.0 -
T»EYEra -C3Y»AC %3 - 36400
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 125,000.0 125,000.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. 2¢31640Al46Y N3U3Ya3igy 44 302,000.0 302,000.0 -
N3U3BIYa3IcY 13303 1»A840AI80Y Y»AC
IA3- A»AC Y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 250,000.0 250,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 52,000.0 52,000.0 -
T3UUST»AA40AIA0YY»ACY
5. 44 yCY3Ye3I3Y 31 aCIiY»AC G 3A40UC6 (8,242,706.3) - (8,242,706.3)
DELE il
20p=25A TaoUek £52020DL0 PATE<d 8111 (1,800,000.0) - (1,800,000.0)
PaOK £520a00/£0 BATEOS 8411 (6,442,706.3) - (6,442,706.3)
6. TAY3I3Y 03 74A40U 50,000.0 50,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 50,000.0 50,000.0 -
T3UUST»AA40AIA0YY»ACY
7. D3E6»3T4AU3Y SBE3T3Y0Y»fi 160,640.0 160,640.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 160,640.0 160,640.0 -
8. U»A1AasU3IcY TA3 - firiC CAZT3Y3640U 128,200.0 128,200.0 -
- DO TS TST3Y 1363[45Ala0YY»A 4234 8,200.0 8,200.0 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

= El 3 0 dwluutiph Gt Yua = > G pynLot Gnwyht

w2 2| E 2 pnLebnwih( dwiuubnh wlnbuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 120,000.0 120,000.0 -
(N=3U3{YU=ICY) T3U%UST»AAA0AIAGY Y»ACY
9. A3AU31ICA Ix3AY»AC - 3YOU3Y 18,000.0 18,000.0 -
I363J46A146YY»hA
- DO TSWTST3Y 1363{40Ala0YY»h 4234 18,000.0 18,000.0 -

2500/05| 0 | O pdx2T2 GA=21208f a42pTa=20asAlacy 641,905.0 571,905.0 70,000.0
31 Ara0"

2560|05 | 6 | 0 | PAc3I= UCc3T3IAC &3BUE3Ya0AlasY (3l 641,905.0 571,905.0 70,000.0
13»ACY 4831 T3Y40)
£l

2561| 05| 6 | 1 |Piic31T3 UGc3 T3¢ 3R wa=YaAlay (SE 136»fiCY 641,905.0 571,905.0 70,000.0
A3TT=3Y40)
31 Ara0"
1. T3Y34 73A310Y»A¢ NeUYasU 150,000.0 80,000.0 70,000.0
83N&3v400
- Talasyt 1=3¢3asAlasy Vi 4213 20,000.0 20,000.0 -
- D3 YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 40,000.0 40,000.0 -
N=202Yo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 70,000.0 - 70,000.0
4. ECH3U3M-»AC EU»0146U0 ~ ISO1383 140U 291,905.0 291,905.0 -
- D3TAT YAST3T3(CY 3 ViasA»h 4269 125,405.0 125,405.0 -
- UTCA=T TanAlasyY»i 3 =flasld al»r=ay1a0 4819 166,500.0 166,500.0 -
T3UUST»AA40AIA0YY»ACY
5. A3=3640 I»Y13YCV»AC TY3634»Al4il 200,000.0 200,000.0 -
- 2 I3Eé»h 4861 200,000.0 200,000.0 -

2600/06| 0 | O ~U2T126202ULU PEU2628a0Ala0U <1 7,055,414.8 5,880,414.8 1,175,000.0

TagasU=t 12&20a0Alasuues

3 Ara0"

2610|106 | 1 | 0 | “YSI=3A3Y3gY BCY3AZ3na0Ala0Y 510,000.0 10,000.0 500,000.0
£l

261106 | 1 | 1 |7 YST3A3Y3(CY RCYSA3AaAlasy 510,000.0 10,000.0 500,000.0
31 Ara0"
1. £YOY3I3U 136406 Y»AC u3Y1460 10,000.0 10,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 10,000.0 10,000.0 -
2. 44Ahant 36w Cx3YC TAZASICY B»Yiu»AC 500,000.0 - 500,000.0

U3Y1y3y N» 1~ "3Yuai
phwlywnwnwdénpin GGEphg gpyywé
pawlhsGEph thnfuhwwnnigdwl hwdwn
phwlhwnwGGaph dGrppbpnd
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA
c = g 3 0 Swfuubph LGN Y = ”
w2 3| E 2 pINLpEIWIRG dwiuutph nuinbuwghunwywl c= Jwpswlwl pynigt | $nnwyht pnigt
o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9
- GLlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
2630|106 | 3 | 0 | @A3U3T313A3A40U 3,074,160.2 3,074,160.2 -
Ely[el)
2631|106 | 3 | 1 |@eASU3T3T3A3140U 3,074,160.2 3,074,160.2 -
3 ATasu
1. UA3YEC3IC D3YAZE» T 46AI3Y 2,300,622.8 2,300,622.8 -
Yupwdwpn piul wowlgni prudp
CASI3Y36i40 @i 3Y¢
cA3UBTIIBABAU3Y " cASN»E36U3Y
IA3-ACY TA3U31AT40 1»EYCISI3Y
3c31640AI3Y I[A3-CA (B3TICA3TT3I
EQ BUAAA0AIEG W»ﬁz
- 2t [3Eeé»fi 4861 2,300,622.8 2,300,622.8 -
2. I»A3136400U3Y "~ %3i - 36U3Y 773,537.4 773,537.4 -
Gypnwuwlwl puwlyh wowlgnipjuwdp
CASI3Y36i40 ©h3Y¢
gpwiwnwlwpwpdwl pupbywddwl spwghp
(B3TICA3IT31 EC344Ra0AI4a0YY»H)
- 2t [3Eeé»fi 4861 773,537.4 773,537.4 -
2640|106 | 4 | 0 | B40406Y»AC F4a663TaAaiU 2,171,973.0 1,971,973.0 200,000.0
Eli[el)
2641|06 | 4 | 1 |6a046Y»AC Fase=Tanasl 2,171,973.0 1,971,973.0 200,000.0
3 ATasu
1. 2AT30CY F4663T4AAAIZY 63Y6C 185,000.0 - 185,000.0
NCUY3Yai4 - 460
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 185,000.0 - 185,000.0
2. 2AT30CY F4663T4AA0AIZY 63Y6C 1,971,973.0 1,971,973.0 -
B3N3-4AIU3Y ~~ §3N&3YU3Y
BRE3T3Y0Y»A
- 2t [3Eeé»fi 4861 1,971,973.0 1,971,973.0 -
4. §°Au30r40E! 6 ~A B»Yur»AC Yaha - 46U 15,000.0 - 15,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 15,000.0 - 15,000.0
2650|06 | 5 | 0 | “YSISAIY3CY BCY3ASAAGAIZY ~ T4U46Y3E 8,000.0 - 8,000.0
T36340AIa6YY»AC - T&T N» T334 1313Y
YBE3. [3cY 3E3T3Y0Y»A
Eli[el)
265106 | 5 | 1 |~ Y3ST3A3Y3(CY RCYSASAAAIBY ~ TaUasY3t 8,000.0 - 8,000.0
1363[a5AIa0YY»AC - TAT N» 1 3har3T3Y
YSE=-I3[CY SRE3T3YUY»f
3 ATasu
1. by YU»AC = BCYA6AIA6YY»AC N» 1 3%a 1 U3Y 8,000.0 - 8,000.0

BPE3T3Y0Y»A
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 swfuubinh Wl Gui = > & anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

- USE=- 13 13%ar313Y ISEé»f 5134 8,000.0 - 8,000.0

266006 | 6 | 0 | “YSI3A3Y3CY BCY3AS[A0AIZY ~ 1aU40Y3¢ 1,291,281.6 824,281.6 467,000.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
El(00)

266106 | 6 | 1 |~ YSTSA3YI(CY RCYSAZSAAIAIBY ~ Talaoy3t 1,291,281.6 824,281.6 467,000.0
1=3¢3a0Ala0YY»A (3l 136»ACY a&3TT3Y40)
31 Ara0"
3. “3I3lcy TBA3I0y»Ac 577,500.0 347,500.0 230,000.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
83N&3v400
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 147,500.0 147,500.0 -
a3Na=vail
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
- P»YU»AG ~ RGYAAIASYY»AC T=é40645U 5112 180,000.0 - 180,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 50,000.0 - 50,000.0
4. Puqilwplwluwpwl 26Gptnh pwpblwnqdwl 170,000.0 20,000.0 150,000.0
3F 3RE3T3Y0Y»A
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 20,000.0 20,000.0 -
a3\a=vail
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 150,000.0 - 150,000.0
5. 2A3(cY 1'3646/6Y»AC B3N=-4ATE6U ~ 320,000.0 320,000.0 -
83N&3v400
- 2 I3Eé»h 4861 320,000.0 320,000.0 -
6. T3A63/37Y»iAC E3N&3Y4iU 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»n313Y 4638 26,781.6 26,781.6 -
N=20=Yo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
7. T3U3A3Y6400Y»AC = 3JE BCYA6AIA6YY»AC 110,000.0 110,000.0 -
I»A3BYAAE- 40U ~ - 46Y3%3A1400
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 110,000.0 110,000.0 -
a3Na=vail
8. Ypwnuyhl wwwnpquidplbinh Gnpngnid 75,000.0 - 75,000.0
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 75,000.0 - 75,000.0
9. Talai0= - I»A¢ 136406400 = I»A=Yana - 46U 12,000.0 - 12,000.0
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 12,000.0 - 12,000.0

2700|070 | O 2gadz=2a2pacAlasy 165,000.0 15,000.0 150,000.0
31 Ara0"

2710|107 | 1 | O | “ABI3I3Y 3&A3YaY»A, 63A0»A 100,000.0 - 100,000.0
E3A0374A400Y»A
£l
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9

2711|107 | 1 | 1 | _»0=-4AT3T3Y S&A3YY»A 100,000.0 - 100,000.0
31 ATa0
1. 2640c383N313Y I33U31»A840AI40Y Y»AC 100,000.0 - 100,000.0
hwdwp pd>)Yuwlul ywppwynpn dGEph
dbrppbpnid
- 2 U»U»Y3Y»i 3RS TaiaslY»h 5129 100,000.0 - 100,000.0

2760|107 | 6 | 0 | 2640¢3&3NacAlasy (3IF 13é»Acy 65,000.0 15,000.0 50,000.0
i437T13Ya0)
&RCo

2761/ 07| 6 | 1 [2640c=2A3N=T3Y NS3A3TCo 1=3¢3a0AlasYY»A 65,000.0 15,000.0 50,000.0
13- firf
31 ATa0
1. Upnnguiwwhwlwl opylunlbph 50,000.0 - 50,000.0
NeUY=3Yana - 460
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vana-aU | 5113 50,000.0 - 50,000.0
2. AT3A3U3TEEC N» 13341 40AI46YY»AC 15,000.0 15,000.0 -
CAZT3Y3640U
- @36Y3 -0 3T3Y 1363(aAlasY Vi 4241 15,000.0 15,000.0 -

2800/08| 0 | O p=20v£eT, @p2TaolA i Taal 2,730,174.6 1,835,174.6 895,000.0
31 ATa0

2810|08 | 1 | O |P3Y-67C ~ 684ATC I36340AI45YY»h 704,000.0 354,000.0 350,000.0
&RCo

2811/08| 1 | 1 |[P3Y-&WwC " eAannC I3é63(asAlaoYY»h 704,000.0 354,000.0 350,000.0
31 ATa0
1. 6847 13IgY UCca63640UY»AC 66,000.0 66,000.0 -
13303 1»iA&a0U
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 66,000.0 66,000.0 -
2. <wlbquinh qnuinplbph L qpnuwyghlbbph 590,000.0 240,000.0 350,000.0
136400400 46 33N43YaoU
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 40,000.0 40,000.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
- P»YU»AC ~ BCYABAIAGYY»AC T3é45640U 5112 350,000.0 - 350,000.0
3. D» [BYT3NABE3AZ3IC B3N3- 41400 48,000.0 48,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 48,000.0 48,000.0 -

2820|108 | 2 | O |@B3T120A3CY [3E3a0AIA6Y Vi 1,966,154.6 1,421,154.6 545,000.0

anco’
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=t ATai0

&3N8q=Yaou

= 3| oy ﬁ

iz % Ca b pwdhaltnh, fudptph L nwubph, hOswtu Gub = AV YA

E = 2 3 = AYLI3U»YA

e pINLobWIhG dwiuutph nbunGuwghnwywl £ Jwpswywh pneet | $nlnwihl pnuet

ol =2 133130 U3Y NALTSTV»AC 3YT3V4UY»HA £
1 2|3 5 7 8 9

MASI3ABYY»A 396,520.2 151,520.2 245,000.0
3 ATasu
1. YAZ13[3Y3cY [SE3J4cAlacYY»a 151,520.2 151,520.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 151,520.2 151,520.2 -
(N3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
2. A313A3YY»A¢ NCUY3Yar4 - 46U 245,000.0 245,000.0
- b»YU»AC " BCYASAIASYY»AC TSACT 3t T»A3YaR4 - 46U 245,000.0 245,000.0
A3Y-3A3YY» " 64062eA3NY»f 234,202.4 234,202.4 -
3 ATasu
1. A3Y-3[A3Y3icY [SE3J40AIa0YY»A 234,202.4 234,202.4 -
04063N3Y1EY»ii
- Untpuhnhwbp ng $hOwbuwywl wtnwyw 234,202.4 234,202.4 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y»ACY
2 UR3TAAZICY T3%UST»AAA0AIA0YY»A 933,408.0 633,408.0 300,000.0
3 ATasu
1. PB3T40A3ICY UCcad3640UY»AC 402,000.0 402,000.0 -
CASI3Y36460
- 2t AYA=6CT 1A3U=3/YARANY»A 402,000.0 402,000.0 -
2. Ybhnwiwpwlwlwl wigni 231,408.0 231,408.0 -
040031A40AI46YY»A
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 231,408.0 231,408.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
3. Ybhnwlwpwlwluwl wygn hhdGwGnpngnid 300,000.0 300,000.0
- P»YU»AC ~ BCYABAIASYY»AC TSACT3E T»ASYana- aU 300,000.0 300,000.0
2AT»eT 392,024.0 392,024.0 -
3 ATasu
1. CABABT 3AI»é1C ~ 83A3AI»E1C 84,220.5 84,220.5 -
N3U»A- Y»i
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 84,220.5 84,220.5 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. AST»A3I3Y Y»AI3I306400Y»A 307,803.5 307,803.5 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 307,803.5 307,803.5 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
PaR3A0SYY»AC ~ URSTAIAZICY SAA»UY»AC 10,000.0 10,000.0 -
»A3T3Y-YaU - &a3(a=vaU
3 ATasu
1. DAGBBA0BYY»AC I»A3YaAd-ail 10,000.0 10,000.0 -

47




“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

25| 2 3 G Swhuutiph nGunk Yt E! 7 (nuyhG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
- P»YU»AC ~ T3840l6Y»AC AYAS6CT Yana- a0 4251 10,000.0 10,000.0 -
a3fasval

2830|108 | 3 | 0 |@31¢4 ~ N»édie T 3N304A1460Y»AC 36,000.0 36,000.0 -
N»é3[03T1U3Y ~ NA31T3A315313Y
1363464146V Y»i
Eli[el)

2831|08| 3 | 1 |bréaier=3631CaN=0an1ailY»h 36,000.0 36,000.0 -
3 ATasu
1. 2303038»T3A3YC 3E3T3Y0UY»AC 36,000.0 36,000.0 -
[nLuwpwln g
- @2V CU3T3Y 1363(a0AlasYY»fi 4241 36,000.0 36,000.0 -

2840|08| 4 | 0 | TAAY3I3Y =~ N3&63A31313Y 3 24,020.0 24,020.0 -
[36340Al46Y Y»A
Ely[el)

2843/ 08| 4 | 3 | TARAYST3Y ~ N3&3AST3T3Y 3 1363(40AI45YY»f 24,020.0 24,020.0 -
3 ATasu
1. 2Y13U31640A13Y ix3AY»hA 24,020.0 24,020.0 -
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 24,020.0 24,020.0 -
T3UUST»AAA0AIA0YY»ACY

2900(09| 0 | O ToAasAvasU 15,624,076.5 14,072,817.9 1,551,258.6
3 ATasu

2910|109 | 1 | 0 |USE318A46313Y ~ T3AA3I3Y AYIN3Y4&i 6,802,443.2 6,502,443.2 300,000.0
TAA&0AI4sY
Eli[el)

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 410,148.0 110,148.0 300,000.0
3 ATasu
1. USE318A46313Y &46640646U 110,148.0 110,148.0 -
- UntpuhnhwGtp nyg $hOwbuwywl wtnwywl 4511 110,148.0 110,148.0 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. USBE315/406313Y 466460U3Y 300,000.0 - 300,000.0
I3BBU31>A803Y N3U3A 3YNA3A»BT - 46/uC
dbrp pbpnid
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 300,000.0 - 300,000.0

2912/ 09| 1 | 2 | T3AAST3Y AV2N=Y46A TrAAGAIASY 6,392,295.2 6,392,295.2 -
3 ATasu
1. D3YASTAA3I3Y 466466460 5,766,193.7 5,766,193.7 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 5,766,193.7 5,766,193.7 -
2. D371 461 1hA&04l46Y 164,023.9 164,023.9 -
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e
= 2 A =) pwdhaltnh, fudptph L nwubph, hOswtu Gub E AV A
G253 23 mmgtnuwho suuthnontusghowyws | EE AT yunguiue prigt | pnonuing e
o =2 1363130-U3Y NaTT31Y»AC 3YT3YalUY»hA nE
1 213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 164,023.9 164,023.9 -
3. U»A=6=313Y 1iAdiAlasy 462,077.6 462,077.6 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 462,077.6 462,077.6 -

2920|109 | 2 | O |@CcY31=37- AYIN3Ya6R THA46AIAGY 7,124,009.9 7,124,009.9 -
ance’

2921/ 09| 2 | 1 |BCUY=T3Y AY1=Vasn TrA&oAlasY 6,813,678.2 6,813,678.2 -
3t Ata0
1. D3YASTAAZI3Y 406406400 6,277,198.8 6,277,198.8 -
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 6,277,198.8 6,277,198.8 -
2. D346l 1AAa6Alacy 162,411.9 162,411.9 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 162,411.9 162,411.9 -
3. U»A=6=313Y 1iAdiAlasy 359,121.3 359,121.3 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 359,121.3 359,121.3 -
4. PA»14I3Y TnAacAlacy 14,946.2 14,946.2 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 14,946.2 14,946.2 -

2922|109 | 2 | 2 |@CcY=T=3f- (EACT) AYLN=YadA TRA&SAIATY 310,331.7 310,331.7 -
3t Ata0
1. D3YASTAAST3Y 466406400 254,419.5 254,419.5 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 254,419.5 254,419.5 -
2. D346l 1AAa6Alacy 36,270.6 36,270.6 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 36,270.6 36,270.6 -
3. U»A=6=313Y 1iAdiAlasy 1,400.8 1,400.8 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,400.8 1,400.8 -
4. @A»14I=3Y 1nAacAlacy 18,240.8 18,240.8 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 18,240.8 18,240.8 -

295009 | 5 | O |A&T UST3A13IV»AC 41363130 - 7ao 1,137,923.4 436,664.8 701,258.6
I17AAacAlacy
ance’

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 1,137,923.4 436,664.8 701,258.6
3t Ata0
1. 2AT318(46313Y 1369331404l 429,420.7 429,420.7 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 48,986.8 48,986.8 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 380,433.9 380,433.9 -

(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

2. 2AT318A46313Y 701,258.6 - 701,258.6
13303 1»A840A145Y Y»AC NCUY3Yahd - asl =~
I»A3Y4A4 - 46U
- b»YU»AC * BCYABAIASYY»AC TSACT3E I»Ai=Vana-4U | 5113 701,258.6 - 701,258.6
3. «<wlnp Yngmjwl» Yppwhwdwihp MNUY- 7,244.1 7,244.1 -
40U BAT318A46313Y 1387 C3A3140AI3Y
I'33U=31»A8400 (A3 T ICAZTT3T
EQ 2347404140 YY»H)
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 7,244.1 7,244.1 -

2960|09 | 6 | O | TAA40AIBYA TASU31ATA0 0A3Y13T 559,700.0 9,700.0 550,000.0
1363464146V Y»i
El(00)

2961/ 09| 6 | 1 |TAA&AIBYA wA=U=1iT40 0ASYL3T 1=263(40Al40YY»fi 559,700.0 9,700.0 550,000.0
31 Ara0"
1. UBE318A46313Y N36 131 40AI46YY»AC 550,000.0 - 550,000.0
NCUY3Yafi4 - 460 ~ i»A3YaAa - 460
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 550,000.0 - 550,000.0
2. BAAGSI3BYY»AC GFCUAC313Y»AC =~ 3 9,700.0 9,700.0 -
UCcd63640UY»AC 13303 1»A8400
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 9,700.0 9,700.0 -

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 1,634,776.0 1,634,776.0 -
3 Ara0"

3070(10 | 7 | O | @46C3¢3T13Y N340l SAT4Ya0Ala0YY»A (SlF 249,700.0 249,700.0 -
136»ACY 4431 T3Y40)
£l

3071|10| 7 | 1 |€46C3E3T3Y N3l SAwavasAlasyY»i (Sl 249,700.0 249,700.0 -
12E»fCY 4831 T3Y40)
3 Ara0"
3. 840C338»6 3YSE3NAT AY U 3YCUY»AcY 19,700.0 19,700.0 -
VAYSI3Y " NCBSWSIC Qf»AcY Sc31046Ala0Y
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 12,000.0 12,000.0 -
- W Gwwuinbbp pinuotihg 4729 7,700.0 7,700.0 -
4. B46C3H38»6 3YSE3NAT 3Y03Y6 215,000.0 215,000.0 -
Sc31640AI46Y
- W Gwwuwnbbp pinuobihg 4729 15,000.0 15,000.0 -
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 200,000.0 200,000.0 -
T3UUST»AA40AIA0YY»ACY
5. P3E3A3I3I3Y I3BU3I»AB40AI46YY»ACY 15,000.0 15,000.0 -
3c31640AI46Y
- UTCA=T TasAlasyY»i 3l =flasld al»r=ay1a0 4819 15,000.0 15,000.0 -

T3UUST»AAA0AIAYY»ACY
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8

309010 0 | 846C3F313Y &381&3YaoAlaoy (3IF 1,385,076.0 1,385,076.0 -
13»ACY 4831 T3Y40)
&RCo

3092 10| 9 | 2 |846C3E3T3Y A3/ T ASYAAIBYA TH3U31AT40 1,385,076.0 1,385,076.0 -
0A3Y13T 1363(40Al40YY»h (S 136»AcY
&3TT3Y40)
31 Ara0"
1. @»7313Y NCUY3ATY»AC 1,249,512.0 1,249,512.0 -
I'33U31»A840A186Y Y»AC SRE3TA0Y»AC
B46C3E3I3Y ~3A»A4i 3E3N4i46U
(B3TICABIT3I FC34%ARA0AIA6Y Y»HA)
- W Gwwuinbbp pinuobihg 4729 1,249,512.0 1,249,512.0 -
2. 2640ca0AI3Y 383N4T= - AdoAlacY 135,564.0 135,564.0 -
- 233473 - A3T3Y I=Eé»i 4215 135,564.0 135,564.0 -

3100{11|0 | O pA@U=2T=2U ~2A£U0U°8£U a_2é7a0 6,047,307.0 6,072,307.0 3,000.0

a2pavéT=2U£U tal 28

31 Ara0"

311011 | 1 | O |PP IBE373[46AI3Y = N3U3)YOY»AC 6,047,307.0 6,072,307.0 3,000.0
&34 13Igy yayr
&RCo

3112 11| 1 | 2 |Pb R=3USIYUY»AC &=3Nasewr3(CY yavr 6,047,307.0 6,072,307.0 3,000.0
3 Ara0"
- a3Nasen=ICY UCcasY»h 4891 6,047,307.0 6,044,307.0 3,000.0
-{wunyuwgned wwhrunwhb $nlnhg $nlnuwhb pjniok X - 28,000.0 -
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©8°1 20Uk 2014 AT2T2UE ~Vateok 12842120 ©1 ual_ 2UEU @2&°6£0 D2TT20200U°BA" AeT ~UatecT2UAU 12E&°5K
Tasi=ze=T=20 1 TUTee=27M£T2T20 2621281020
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LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°5s 2,292,537.4 2,095,037.4 197,500.0
2100/01|0 | O AU _p=20a06 ~UasUAL p2Us=2040 399,300.9 389,800.9 9,500.0
T2e20a0A0a0U°s

31 ATa0

211001 | 1 | O |aA»YE1CA ~ -4AT3ICA USAUCYY»A, 381,661.0 376,161.0 5,500.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGGGp,
wnunwphl hwpwpbpnipiniGGap
anco’

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 381,661.0 376,161.0 5,500.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 381,661.0 376,161.0 5,500.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 292,565.0 292,565.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 35,410.9 35,410.9 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 7,582.3 7,582.3 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 200.0 200.0 -
- T3AC 1363(a0AlasYY»fi 4214 8,416.0 8,416.0 -
- 2330413 -A3T3Y I2E6»i 4215 200.0 200.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 300.0 300.0 -
- DT TT3T3Y 1363(40Ala0YY»A 4234 800.0 800.0 -
- U»AT=31=06400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph w)| SwrwjnLpnLtGOEn 4239 1,500.0 1,500.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 600.0 600.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 5,000.0 5,000.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 4,200.0 4,200.0 -
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LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8

- TASYE A& 3ICY YiaoA»f 4264 14,266.8 14,266.8 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,000.0 1,000.0 -
- A3A31Ch Tx3AY»h 4823 120.0 120.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- 13AE=13Y 63A0=T4RAUY»A 5122 5,500.0 - 5,500.0

2130|101 | 3 | O |Lanhwlanmp plGnyph SwerwynipinGlGbGn 8,639.9 8,639.9 -
anco

2131|101 | 3 | 1 |Ufuwunwlywqih /qunntph/ gény plnhwnip plniyph 8,639.9 8,639.9 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640AI3Y ST1»AC 8,639.9 8,639.9 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
IEpU31»A8400 (A3 T TCAZIT=31
EQ BYAAA0AIEGY Y1)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 7,394.1 7,394.1 -
N3 T»E2Tx3AY»A
- WY»A-»WCT 1263[a0AIa5YY»f 4212 323.2 323.2 -
- T2AC 1363{a0AlasYY»h 4214 196.2 196.2 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 200.0 200.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-aoew 4261 417.3 417.3 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0 -
- A3AT31CA Tx3AY»h 4823 9.1 9.1 -

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 4,000.0 - 4,000.0
T36340AIacYY»AC - T&T N» T3%41313Y
YSEZ.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp panyph hwapwihb SwewinienLbbtnh 4,000.0 - 4,000.0
-TAT N> 3BAT3T3Y ~ V3E=.- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 4,000.0 - 4,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 4,000.0 - 4,000.0

2160| 01| 6 | O |L4anhwGnip pGnyph hwlpuyghG ) 5,000.0 5,000.0 -
T36346AIacY Y»i (3IF 136»AcY 483 113Y40)
anco

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 5,000.0 5,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|3 |4 5 6 7 8 9

1. . CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 2,000.0 2,000.0 -
4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn GEpyuywgllihu
E3NUBYI3I ix3[a60Y»HA
- A3A31Ch Tx3AY»h 4823 2,000.0 2,000.0 -
2. Qnuyph GLundwdp hpwyniGplbph 3,000.0 3,000.0 -
-A3YOU3Y, - Y3IN3TU3Y ~
T0» 13T T40AI3Y TA3U31A03Y N» 71
ISA731 ix3A400Y»hA
- @36Y=3-Cw3T3Y 1363{a0AlasYY»h 4241 1,000.0 1,000.0 -
- A3A31Ch Tx3AY»h 4823 2,000.0 2,000.0 -

2200/102|0 | 0 a=2pta=0asAlacy 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al40Y (3IF 136»ACY 483 113Y4a0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. %4A3184C I3BU3BI»A&U3YY 3c31646Al45Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000U°s 76,280.0 61,280.0 15,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 60,000.0 45,000.0 15,000.0
anco

2451|104 | 5 | 1 |O=Y=2&3AN3(CY wTAZYeQanT 45,000.0 45,000.0 -
31 ATa0
1. Uupwywn-punnbu dwdélp Jbpwlnpngnid 45,000.0 45,000.0 -
- &3NE3YaiU
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 45,000.0 45,000.0 -
a=N&=vail

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY " 3 wA3YE 4R T 15,000.0 - 15,000.0
31 ATa0
1. I»f»E3TY»AC NCUY3YARAa - 46U 15,000.0 - 15,000.0
- 2[f U»U»Y3Y»ii ~ 63A03 TanasUY»h 5129 15,000.0 - 15,000.0

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbpnipIn GGG (wy 16,280.0 16,280.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipnLtGbEn (wy nwubph 16,280.0 16,280.0 -
4A3T1=2Y40)
31 ATa0
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
9. 3AT3ICA Ix3AY»AC - 3YOU3Y 16,280.0 16,280.0 -
1363146Al46YY»i
- UTCA=T TanAlasyV»i 3 s=flasld al»r=ay1a0 4819 16,280.0 16,280.0 -
T3UUST»AAA0AIA0YY»ACY

2500/05| 0 | O pdx2T2 GA=21208f a42pTa=20asAlacy 415,564.5 415,564.5 -
31 Ara0"

2510|105 | 1 | O |Unpwhwlnid 293,564.5 293,564.5 -
&RCo

2511105| 1 | 1 |UnpwhwGnLd 293,564.5 293,564.5 -
31 Ara0"
1. Unpwhwlmpint b L ywGhunwpwluwl 293,564.5 293,564.5 -
U=30A46U0
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 293,564.5 293,564.5 -

2560| 05| 6 | 0 | PACZT3 UCc3T3IAC &33BT A&3YadAl46Y (3IF 122,000.0 122,000.0 -
13»ACY 4831 T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13eé»Acy 122,000.0 122,000.0 -
A3TT3Y40)
3 Ara0"
1. T3Y34 T3A310Y»AC NCUY&E6U ~ 120,000.0 120,000.0 -
83N&3v400
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 120,000.0 120,000.0 -
2. ZET3N3YU3Y " UCc3 T3 AlU3Y 2,000.0 2,000.0 -
I363JA0AIA0Y Y»ii /1»63 1 CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 2,000.0 2,000.0 -

2600/06| 0 | O “02T2582020£0 pEU262820A0a00 <1 252,000.0 79,000.0 173,000.0

TagasU=2t 12e=20a0A0a000°8

3 Ara0"

2610|106 | 1 | O | “YSI=A3Y3(CY BCY=3=ndiAlasy 2,000.0 2,000.0 -
&RCo

2611|106 | 1 | 1 |“YST3A3Y3(CY RCY=n3napAlasy 2,000.0 2,000.0 -
31 Ara0"
1. £YOY313U 1364006 Y»AC 03Y 1450 2,000.0 2,000.0 -
- 2k I=Eé»i 4861 2,000.0 2,000.0 -

2660|06 | 6 | O | “YIISAIYICY BCYIA3A46AI3Y  T4U46Y3¢ 250,000.0 77,000.0 173,000.0
T36340AIacYY»i (3lF 136»ACY 4831T3Y40)
&RCo
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2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 250,000.0 77,000.0 173,000.0
1=3¢340Ala0YY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwuwpwl 2GGpbph hwppe 20,000.0 20,000.0 -
T 3YCUY»AC I»A3Yaha- a6l
- b»YU»AC ~ T3640l6Y»AC AYAS6CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
2. Puquiwplwluwpwl 26Gplph plip 40,000.0 12,000.0 28,000.0
T3YCUY»AC I»A3Yaha - aiu
-D3TAT YAST3T3(CY 3 ViasA»h 4269 12,000.0 12,000.0 -
- P»YU»AG ~ RCYAAIAYY»AC TBACT3E T»i=Vana-al0 | 5113 28,000.0 - 28,000.0
3. “3IBlcy TBA3Iay»Ac 160,000.0 15,000.0 145,000.0
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 140,000.0 - 140,000.0
- Z[E U»U»Y3Y»ii " 63A03 TanailY»h 5129 5,000.0 - 5,000.0
4. Puqilwplwluwpwl 26Gpbnh pwpblwnqdwl 30,000.0 30,000.0 -
3F 3RE3T3Y0Y»hA
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
- Untpuhnhwlbp ny wbunwywl (ng hwdwyGpuwyhl) ns 4521 10,000.0 10,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY

2800/08| 0 | O p=20v£eT, @p2TaolA i Taal 79,036.6 79,036.6 -
31 ATa0

2810|108 | 1 | 0 |P3Y-67¢ ~ER4ATC I363/40AI46YY»A 5,000.0 5,000.0 -
&RCo

2811/08| 1 | 1 |[D3Y-&WwC ~ eA4aRNC 1363(40Al40YY»h 5,000.0 5,000.0 -
31 ATa0
1. 884AT3ICY UCca6=3645UY»AC 5,000.0 5,000.0 -
13303178400
- 2[f AYA=6CT 1A3U3RYARANY»A 4639 5,000.0 5,000.0 -

2820|108 | 2 | O |@B3T140A3ICY [3E3a0AIa6Y Vi 74,036.6 74,036.6 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 44,544.8 44,544.8 -
31 ATa0
1. TASI3[3Y3(cY [363a0AladyY Yy 44,544.8 44,544.8 -
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-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 44,544.8 44,544.8
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3KUST»AA40AIAGYY»A 20,000.0 20,000.0
3 ATasu
1. PB3T40A3ICY UCcad3640UY»AC 20,000.0 20,000.0
CASI3Y36460
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 20,000.0 20,000.0

2825/08| 2 | 5 |2AT»EW 9,491.8 9,491.8
3 ATasu
1. CA3ABU3AM»ETC ~ E3AZBAI»ETC 9,491.8 9,491.8
N3Ux»A - Y»i
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 9,491.8 9,491.8
(R=U=(Y0=UCY) T3%UST»AAAE0AIAYY»ACY

2900/09| 0 | O ToAabAlaU 986,040.7 986,040.7
3 ATasu

2910(09 | 1 | 0 |USE318/46313Y =~ T3AAZ13Y AYIN3Ya67 810,828.0 810,828.0
TAA&oAl46Y
anco

2911|109 | 1 | 1 |U=E314R46=1T3Y TRA&AIATY 810,828.0 810,828.0
3 ATasu
1. USE318A46313Y 406406400 810,828.0 810,828.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 810,828.0 810,828.0
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2950(09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 174,212.7 174,212.7
TAA&oAl46Y
anco’

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 174,212.7 174,212.7
3 ATasu
1. 2AT318A46313Y 138 7 C3A3140A146Y 174,212.7 174,212.7
- Untpuhnhw(tn ng $hlwluwluwl whnwywo 4511 174,212.7 174,212.7
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2960|109 | 6 | 0 | TAA&OAIZYA TASU31AT40 GA3Y213T 1,000.0 1,000.0
[36340Al46Y Y»A
anco

2961|09 | 6 | 1 | TAA&AISYA wA3U31AT40 0A=Y13T 1=263(40Ala5YY»h 1,000.0 1,000.0
3 ATasu
1. UBE318/46313Y N36 131404146V Y»AC 1,000.0 1,000.0
NCUY3Yafi4 - 460 ~ i»A3YaAa - 460
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1 |23 |4 5 6 7 8 9

- P»YU»AC ~ T3840l6Y»AC AYAS6CT Yana- a0 4251 1,000.0 1,000.0
a=N&=vail

3000(10|0 | O €a0k=2E2T20 a42pT14a=20a0Alacy 82,314.7 82,314.7
31 ATa0

307010 | 7 | O | @46C3F313Y N3 7461 SATAYAAla6YY»A (SIE 45,820.0 45,820.0
136»ACY 4431 T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E2T3Y N3l SAwavasAlasyY»n (Sl 45,820.0 45,820.0
13¢»ACY 83T T3Y40)
31 ATa0
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 4,500.0 4,500.0
E40C338»8 3YSE3NAT AYT3YCuY»AC
N3U3A Na603AT3T4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 4,500.0 4,500.0
3. 840C338»6 3YSE3NAT AY U 3YCUY»AcY 30,000.0 30,000.0
VAYSI3Y " NCBSWSIC Qf»AcY Sc31046Ala0Y
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 30,000.0 30,000.0
4. 840C3E3E»6 3Y3E3N4T 3Y03Y6 8,820.0 8,820.0
Sc31640AI46Y
- aliC T e3AUS TaRasUY»AC TSA0ST3tacAlasY 4216 4,320.0 4,320.0
- W Gwwuwnbbp pinuobihg 4729 2,500.0 2,500.0
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 2,000.0 2,000.0
T3UUST»AAA0AIA0YY»ACY
5. P3E3A3I3I3Y I3BU3I»AB40AI46YY»ACY 2,500.0 2,500.0
Sc31640Al46Y
- UTCA=T TasAlasyY»i 3l =flasld al»r=ay1a0 4819 2,500.0 2,500.0
T3UUST»AA40AIA0YY»ACY

309010 | 9 | O | 846C3H313Y &33BT A&3Ya0Al46Y (3IF 36,494.7 36,494.7
13»ACY 4831 T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y A3 W ASVAAIAY (B 13e»AcY 29,214.7 29,214.7
4A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 29,214.7 29,214.7

- 4AT40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AIa0YY»Fi)
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 28,493.7 28,493.7
N3 T»E2Tx3AY»A
- T3AC 1363(a0AlasYY»fi 4214 350.0 350.0
- MA=E»YIST3ICY YiasA»A ™ N=- 408w 4261 321.0 321.0
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- T3AC 1363(a0AlasYY»fi 4214 8,883.1 8,883.1 -
- 2330413 -A3T3Y I2E6»i 4215 403.0 403.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 1,000.0 1,000.0 -
- DO TS WTST3Y 1363{40Ala0YY»h 4234 592.0 592.0 -
- U»AT3(=06400531T3Y I3Eé»i 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph w)| SwrwjnLpnLtGOEn 4239 1,400.0 1,400.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 1,779.6 1,779.6 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 2,850.0 2,850.0 -
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-aoe 4261 4,100.0 4,100.0 -
- TASYEAAN T 3ICY YiaoA»f 4264 12,215.4 12,215.4 -
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LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7

- T»Y6303(CY ~ NSYASICY eYY1G YidoAx»f 4267 1,662.5 1,662.5 -
- A3A31CA Tx3AY»h 4823 115.0 115.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- TABYEAAA T 3(CY 63hu=Tanaiuy»h 5121 16,000.0 - 16,000.0
- T 3EST3Y 6303 TanaiUY»h 5122 5,520.0 - 5,520.0
2. duwpswlwl opibyinGlinh hhoGwlnpngnid 60,000.0 - 60,000.0
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 60,000.0 - 60,000.0

2130|101 | 3 | O |Lanhwlanmp plGnyph SwerwynipinGlGbGn 8,639.9 8,639.9 -
anco’

213101 | 3 | 1 |Ufuwunwlywqih /qunntnh/ gény plnhwnip plniph 8,639.9 8,639.9 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640A13Y ST1»AC 8,639.9 8,639.9 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=pU31»A8400 (A3 1 TCAZIT31
EQ 2347404140 YY»H)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 7,519.3 7,519.3 -
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIasYY»f 4212 677.3 677.3 -
- T3AC 1363(a0AlasYY»fi 4214 181.2 181.2 -
- TASE»YIST3ICY YidsA»A ~ N=-ase 4261 253.0 253.0 -
- A3AT31CA Tx3AY»h 4823 9.1 9.1 -

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 3,000.0 - 3,000.0
I36340AIacYY»AC - T&T N» 13341313y
YSEZ.[3gY 3BEZT3Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwpwihb SwewinienLbbtnh 3,000.0 - 3,000.0
-TAT N> 3BAT3T3Y ~ V3E=- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T3Y0Y»i 3,000.0 - 3,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 3,000.0 - 3,000.0

2160| 01| 6 | O |LanhwGnip pGniyph hwipuyghG ) 4,000.0 4,000.0 -
T36346AIacY Y»i (3IF 136»AcY 483 113Y40)
anco’

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 4,000.0 4,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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1 (2|3 |4 5 6 7 8 9
1. . CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 2,500.0 2,500.0 -
4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn GEpyuywgllihu
E3NUBY I3 ix3A460Y»i
- A3ATS31CA Tx3AY»f 4823 2,500.0 2,500.0 -
2. Qnyph Gyundwdp hpwyniGplbph 1,500.0 1,500.0 -
-A3Y6U3Y, -YINZSTU3Y ~
T0» 13T T40AI3Y TA3U31A03Y N» 71
ISA731 ix3A400Y»hA
- A3AT31CA Tx3AY»f 4823 1,500.0 1,500.0 -

2400|040 | 0 TUTeE2T20 p2582" 2520AUa000°s 61,393.5 41,393.5 20,000.0
3 ATasu

2450|104 | 5 | 0 | TA=YéA4AT 40,000.0 20,000.0 20,000.0
anco

2451|104 | 5 | 1 |O=Y=243AN3(CY wTA=YeQan T 20,000.0 20,000.0 -
31 AT4o0"
1. Uupwywn-punnbu dwdélp Jbpwlnpngnid 20,000.0 20,000.0 -
- E3NE3YaiU
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 20,000.0 20,000.0 -
a=N&=vail

2455|04 | 5 | 5 |E&Q0AT3T3R3A3(CY ~ 3 wASYelanr 20,000.0 - 20,000.0
31 AT4o0"
1. T»A»E31Y»A¢ NCUY3YAr4 - 46U 20,000.0 - 20,000.0
- 2[f U»U»Y3Y»ii * 63A03 TanasUY»h 5129 20,000.0 - 20,000.0

2490|04 | 9 | 0 | SGwnbuwwl hwpwpbpnipn GGG (wy 21,3935 21,3935 -
13»ACY 4431 T3Y40)
anco

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnintGbEn (wy nwubph 21,393.5 21,393.5 -
4A3T1=2Y40)
3 ATasu
9. A3AT31CAH Ix3AY»AC - 3YOU3Y 21,393.5 21,393.5 -
I363J46A146YY»hA
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 21,393.5 21,393.5 -
T3UUST»AA40AIA0YY»ACY

2500/05| 0 | O pdx2T2 GA=21208f a42pTa20asAlacy 657,597.2 657,597.2 -
3 AT460"

2510|05 | 1 | O | Unpwhwlnid 539,097.2 539,097.2 -
anco

2511/05| 1 | 1 |UnpwhwGnLd 539,097.2 539,097.2 -
3 ATasu
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
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1. Unpwhwlmpint b L ywGhunwpwluwl 539,097.2 539,097.2 -
U=30A46U0
- Tal&sY3t 1=363{a0AlasyY» 4213 539,097.2 539,097.2 -
2530|05 | 3 | 0 | pAc3T3 UCc3T3IAC S0Ta1U3Y 150 &30=3A 15,000.0 15,000.0 -
&RCo
2531/ 05| 3 | 1 |4x¢ 30wawU=3Y 1»0 &=30=A 15,000.0 15,000.0 -
31 ATa0
1. I»T»AC NAsY»A¢ U3uhidu 15,000.0 15,000.0 -
- Tal&sY3t 1=3é3{a0AlasyY» 4213 15,000.0 15,000.0 -
2560/ 05| 6 | 0 |bAc3T=3 UCc3 T3¢ &30 43Y40Al40Y (3IF 103,500.0 103,500.0 -
13»ACY 4831 T3Y40)
&RCo
2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13eé»Acy 103,500.0 103,500.0 -
4A3T1=2Y40)
31 ATa0
1. T3Y34 3A310Y»A¢ NeUYasU 100,000.0 100,000.0 -
a3Na3vaoU
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 100,000.0 100,000.0 -
2. ZET3N3YU3Y ~ UCc3U3U»AlU3Y 3,500.0 3,500.0 -
I363JA0AIAGY Y»ii /1»63 T CH36C3
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 3,500.0 3,500.0 -
2600/06| 0 | O ~U2T126202ULU PEU2628a0Ala0U ©1 198,000.0 57,000.0 141,000.0
TagasU=2t 12e=20a0A0a000°8
31 ATa0
261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAGY 2,000.0 2,000.0 -
&RCo
2611|106 | 1 | 1 |7 YST3/A3Y3(CY RCY2A3hadAlasy 2,000.0 2,000.0 -
31 ATa0
1. £YQY313U 1364006 Y»AC 03Y 1450 2,000.0 2,000.0 -
- 2 I3Eé»h 4861 2,000.0 2,000.0 -
266006 | 6 | 0 | “YSI3A3Y3CY BCY3AS[E0AIZY ~ 1aU40Y3¢ 196,000.0 55,000.0 141,000.0
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
&RCo
2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 196,000.0 55,000.0 141,000.0
1=3¢3{40AlasYY»A (3l 13é»ACY a&3TT3Y40)
31 ATa0
1. Pwquiwplwlwpwa 26GpGpH hwpp 20,000.0 20,000.0 -

T 3YCUY»AC I»A3YAana - aiU
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LT 1363T3A-U3Y NALTSIV»AC 3YT3VAUY»hA £
1 |23 |4 5 6 7 8 9

- b»YU»AC ~ T3640l6Y»AC AYAS6CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
2. Pwquiwplwlwpwl p6GpGph pbip 21,000.0 - 21,000.0
T3YCUY»AC I»A3Yaha - aiu
- b»YU»AC " BCYASAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 21,000.0 - 21,000.0
3. “3I3lcy TBA3I0y»Ac 135,000.0 15,000.0 120,000.0
E303NA383A31Y»AC NCUY3Yah4 - 46U 46
a3Na3vaoU
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- aU 4251 15,000.0 15,000.0 -
a=N&=vail
- b»YU»AC " BCYABAIAGYY»AC TSACT3E I»Ai=Vafa-aU | 5113 120,000.0 - 120,000.0
4. Puqulwplwluwpwl 26Gpbnh pwpbliwnqdwl 20,000.0 20,000.0 -
3F 3RE3T3Y0Y»hA
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- a0 4251 10,000.0 10,000.0 -
a=N&=vail
- Untpuhnhwbp ng wewnwywb (ng hwdwOpuwihb) ng 4521 10,000.0 10,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 55,580.7 55,580.7 -
3 Ara0"

2810|08 | 1 | O |P3Y-67C ~ 684ATC I36340AI45YY»h 4,500.0 4,500.0 -
&RCo

2811/08| 1 | 1 |[D3Y-&WC ~ eA4aRNC 1363(40Al46YY»h 4,500.0 4,500.0 -
3 Ara0"
1. 884AT3ICY UCca63645UY»AC 4,500.0 4,500.0 -
13303 1»A&a0U0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 4,500.0 4,500.0 -

2820|08 | 2 | O | @B3T146A3IcY I36346AI46YY»A 51,080.7 51,080.7 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 26,080.7 26,080.7 -
3 Ara0"
1. YAZI3H3YICY [BE3J40AI46YY»A 26,080.7 26,080.7 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 26,080.7 26,080.7 -
(N3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAA0AIATYY» 22,000.0 22,000.0 -
31 Ara0"
1. PB3140A3ICY UCcad3640UY»AC 22,000.0 22,000.0 -
CASI3Y3646U
- 2[f AYA=6CT 1A3U3RYAANY »f 4639 22,000.0 22,000.0 -
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o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8

2827|108 | 2 | 7 |DaR3A03YY»AC —~ URSTAIAZICY SAA»UY»AC 3,000.0 3,000.0
»AST3Y - Yail ~ &3Na3vail
3 Ara0"
1. DAOB3A03YY»AC I»A3Yahna-4il ~— 3,000.0 3,000.0
a3Na3vaoU
- P»YU»fiC * T3640l6Y»AC AYASGCT Yafia-aiU - 4251 3,000.0 3,000.0
a=N&=vail

2900/09| 0 | O ToAabAUaU 656,072.8 656,072.8
31 Ara0"

2910|109 | 1 | 0 |USE318A46313Y =~ T3AA3I3Y AYIN3Y4&i/ 529,812.0 529,812.0
TAdaoAiasy
&RCo

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 529,812.0 529,812.0
3 Ara0"
1. USE318A46313Y 406406400 529,812.0 529,812.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 529,812.0 529,812.0
(R=3USYUZICY) TS T»AAAAIAYY»ACY

295009 | 5 | 0 |AéT UBI3A13TY»AC 42363137 - 140 124,260.8 124,260.8
TAdaoAiasy
&RCo

295109 | 5 | 1 |2AT31A/463T3Y 136w C3A3T4sAIAY 124,260.8 124,260.8
3 Ara0"
1. 2AT313A406313Y 136 1 C3A3140Al40Y 124,260.8 124,260.8
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 124,260.8 124,260.8
(R=3USYU=ICY) T3S T»AAAAIAY Y»ACY

2960|09 | 6 | O | TAA40AI3YA TASU31ATA0 0A3Y13T 2,000.0 2,000.0
13631464146V Y»i
&RCo

2961/ 09| 6 | 1 |TAA&AISYA TA=U=31iTa0 0A3Y13T 1363(apAladYY»ii 2,000.0 2,000.0
3 Ara0"
1. UBE318/46313Y N36 131404146V Y»AC 2,000.0 2,000.0
NCUY3Yafi4 - 460 ~ i»A3YaAa - 460
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 2,000.0 2,000.0
a=N&=vail

3000(10|0 | O €a0k=2E2T20 a42pT14a=20a0Alacu 49,580.8 49,580.8
31 Ara0"

307010 | 7 | O | @46C3F313Y N3 1461 3ATAYAAla6YY»A (SIE 13,600.0 13,600.0
13»ACY 4831 T3Y40)
&RCo
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

3071|10| 7 | 1 |€46C3E3T3Y N3 Tail SAwavasAlasyY»n (Sl 13,600.0 13,600.0
13¢»ACY 83T T3Y40)
31 ATa0
2. D333 446Y»640 3Y03Y6 3,000.0 3,000.0
E40C338»8 3YSE3NAT AYT3YCuY»AC
N3U3A Na603AT314A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 3,000.0 3,000.0
3. 840C3£38»6 3Y3E3INAT AYT3YCUY»ACY 7,000.0 7,000.0
VAYSI3Y " NCBSWSIC Qf»AcY S¢31046Ala0Y
- 2[f AYA=6CT 1A=3U3RYARANY»A 4639 7,000.0 7,000.0
4. 840C3£3876 3Y3E3Nal 3Y03Yo6 3,600.0 3,600.0
Sc31640Ala6Y
- UTCA=T TasAlasyy»i 3 =fasld al»r=ay1a0 4819 3,600.0 3,600.0
T3UUST»AA40AIA0YY»ACY

3090(10 | 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3 35,980.8 35,980.8
13»ACY 4831 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3TY &3RTASYAIAIAIY (S 138»ACY 29,064.8 29,064.8
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY [363I40AI46YY»AC 29,064.8 29,064.8

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 27,316.2 27,316.2
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 733.6 733.6
- T2AC 1363{a0AlasYY»h 4214 159.4 159.4
- aluC  e3AUS TaRaUY»AC TSA0ST3tacAlasY 4216 750.0 750.0
- TASE»YIST3ICY YidsA»A -~ N=-asew 4261 105.6 105.6

3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAIAIRYA WA=U31AT40 6,916.0 6,916.0
0A3Y13T 1=363(40Al46YY»h (S 13é»AcY
4A3T1=2Y40)
31 ATa0
2. 2640c40AI3Y 383N4T3 - 46AlacY 6,916.0 6,916.0
- 2330413 -A3T3Y I2E6»i 4215 6,916.0 6,916.0
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LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 3,542,621.7 3,432,821.7 109,800.0
2100(01| 0 | O AU _p=20a06 ~UasUAL p2Us=2040 679,621.1 666,821.1 12,800.0
T12&20asAlas00°s

31 ATa0

2110|101 | 1 | O |dA»Yé1gA = -8AT31CA USAUCYY»A, 660,481.2 650,681.2 9,800.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGGGp,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 660,481.2 650,681.2 9,800.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 660,481.2 650,681.2 9,800.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 422,695.0 422,695.0 -
N3 T»E2Tx3AY»A
- a3 "3 rhalY»f, 1ASU3T3Y EASEaieaUY»h 4112 100,762.6 100,762.6 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 21,800.0 21,800.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,000.0 1,000.0 -
- T3AC 1363(a0AlasYY»fi 4214 17,772.7 17,772.7 -
- 2330413 -A3T3Y I2E6»i 4215 1,060.0 1,060.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 6,000.0 6,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 500.0 500.0 -
- D3U3T3A-53UCY 1363(a0AIa5YY»fi 4232 1,900.0 1,900.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 740.4 740.4 -
- U»AT3(=0640053T3Y I3Eé»i 4237 5,000.0 5,000.0 -
- @36Y=3-Cw3T3Y 1363{a0AlasYV»h 4241 1,378.0 1,378.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 16,550.0 16,550.0 -
Yafia- &l &=N&=vail
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1. DBZTE0A3ICY UCcA63E400Y»AC 37,000.0 37,000.0
CASI3Y3646U
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 37,000.0 37,000.0

2827|108 | 2 | 7 |DaR3AO3YY»AC —~ URSTAIAZICY SAA»UY»AC 13,700.0 13,700.0
»AST3Y - Yail —~ a3Na3vail
3 Ara0"
1. PAR3A03YY»AC T»A=YaAa-ail 13,700.0 13,700.0
a3Na3vaoU
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 13,700.0 13,700.0
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VAYSI3Y " NCBSWSIC Qf»AcY Sc31046Ala0Y
- 2t AYA=6CT 1A3U=3/YARANY»A 4639 35,918.6 35,918.6
- W Gwwuinbbp pinuotihg 4729 3,920.0 3,920.0
4. 846C338»6 3Y3{3NAT 3Y03Y6 17,400.0 17,400.0
Sc31640AI46Y
- UTCA=T TasAlasyV»i 3l s=fasld al>r=ay1a0 4819 17,400.0 17,400.0
T3UUST»AAA0AIA0YY»ACY
5. P3E3A3I3I3Y I3BU3I»AB40AI46YY»ACY 1,200.0 1,200.0
3c31640AI46Y
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3091 10| 9 | 1 |@a6C3E3T3Y A3 WASVasAlasy (S 13e»AcY 38,796.3 38,796.3
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- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 4,650.0 4,650.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 5,808.2 5,808.2 -
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swhuubph wGnGuwghnwywa = ” & anwihG

w2 3| E 2 pINLpEIWIRG dwiuutph nuinbuwghunwywl c= Jwpswlwl pynigt | $nnwyht pnigt

LT 1363137.U3Y NALTSIV»AC 3YT3VaUY»AA &
1 (2|34 5 6 7 8

- TASYE A& 3ICY YiaoA»f 4264 21,447.8 21,447.8 -
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 1,997.2 1,997.2 -
- A3A31Ch Tx3AY»h 4823 150.0 150.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- T 3EST3Y 6303 TanaiUY»h 5122 4,079.7 - 4,079.7
2. duwpswlwl opibyinGlinh hhoGwlnpngnid 35,159.4 - 35,159.4
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 35,159.4 - 35,159.4

2130|101 | 3 | O |Lanhwlanmp plGnyph SwerwynipinGlGbGn 8,639.9 8,639.9 -
anco’

213101 | 3 | 1 |Ufuwunwlywqih /qunntnh/ gény plnhwnip plniph 8,639.9 8,639.9 -
1363[a5Ala5YY»fi
3 ATasu
1. 303036C313Y 13640A13Y ST1»AC 8,639.9 8,639.9 -
-ABYOU3Y 36340413V - 4ATA0Y»a0AI3Y
I=pU31»A8400 (A3 1 TCAZIT31
EQ 2347404140 YY»H)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 7,777.1 7,777.1 -
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIasYY»f 4212 397.6 397.6 -
- Tal&sy=t 13¢3(apAlasy Y»ii 4213 74.8 74.8 -
- T3AC 1363(a0AlasYY»fi 4214 231.6 231.6 -
- TASE»YIST3ICY YidsA»A ~ N=-ase 4261 108.8 108.8 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 40.9 40.9 -
- A3AT31CA Tx3AY»h 4823 9.1 9.1 -

2150|101 | 5 | O |LanhwGnip pGniyph hwlpuyghG 4,000.0 - 4,000.0
T36340AIa6YY»AC - T&T N» T3%41313Y
YSE3.[3gY 3BEZ13Y0Y»A
anco’

2151|101 | 5 | 1 |COnhwOntp pbnyph hwpwihb SwewinienLbbtnh 4,000.0 - 4,000.0
-TAT N> 3BAT3T3Y ~ V3E=- 13y
SRE3T3YUY»ii
3 ATasu
1. USE3-[3cY SRE3T13Y0Y»i 4,000.0 - 4,000.0
- USE=- 1213 r3T3Y [SEé»fi 5134 4,000.0 - 4,000.0

2160| 01| 6 | O |L4anhwGnip pGnyph hwlpuyghG ) 6,000.0 6,000.0 -
T36340AIacYY»i (3IF 136»AcY 483 113Y40)
anco

2161|01| 6 | 1 |COnhwOntp pOnyph hwlpwihG SwewjnieNLGbEn (wyg 6,000.0 6,000.0 -
13¢»ACY 83T 13Y40)
3 ATasu
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- |4l o “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8

1. . CUAbUY»A, N36310U400Y»A, 13 03A3Y¢ 3,000.0 3,000.0 -
4AdBAGUY»AC " TxCEY»AC I»U I»A3uYYCa
YApwpbl pnnnplbn GEpyuywgllihu
E3NUBYI3I ix3[a60Y»HA
- A3A31Ch Tx3AY»h 4823 3,000.0 3,000.0 -
2. Qnuyph GLundwdp hpwyniGplbph 3,000.0 3,000.0 -
-A3YOU3Y, - Y3IN3TU3Y ~
T0» 13T T40AI3Y TA3U31A03Y N» 71
I3& 731 ix3A400Y»iA
- A3A31Ch Tx3AY»h 4823 3,000.0 3,000.0 -

2200/02|0 | 0 a=2pta=0asAlacy 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al4cY (3IF 136»AcY 483113Y4a0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VasAlasy (3 1=2e»ACY 4831 13Y40) 2,000.0 2,000.0 -
31 ATa0
1. %4A3184C I3BU3BI»A&U3YY 3c31646Al45Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 252" 2520AUa000U°s 64,984.9 49,920.0 15,064.9
31 ATa0

2450|104 | 5 | 0 | TA=YéA4AT 45,064.9 30,000.0 15,064.9
anco

2451|104 | 5 | 1 |O=Y=243AN3(CY wTAZYeQanT 30,000.0 30,000.0 -
31 ATa0
1. Uupwywn-punnbu dwdélp Jbpwlnpngnid 30,000.0 30,000.0 -
 83NE3YaiU
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 30,000.0 30,000.0 -
a=N&=vail

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY " 3 wA3YE 4R T 15,064.9 - 15,064.9
31 ATa0
1. I»f»E3TY»AC NCUY3YARAa - 46U 15,064.9 - 15,064.9
- 2 UnU»Y3Y»f " e3A03TanalY»A 5129 15,064.9 - 15,064.9

2490|04 | 9 | 0 | SGwnbuwlwl hwpwpbpnipIn GGG (wy 19,920.0 19,920.0 -
13»ACY 4831 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptnnipnLtGbEn (wy nwubph 19,920.0 19,920.0 -
4A3T1=2Y40)
31 ATa0
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ” anwihG

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt

o =2 1363137 U3Y NALT3IV»AC SYT3YAUY»AA £

1 (2|34 5 6 7 8 9
9. 3AT3ICA Ix3AY»AC - 3YOU3Y 19,920.0 19,920.0 -
1363146Al46YY»i
- UTCA=T TanAlasyV»i 3 s=flasld al»r=ay1a0 4819 19,920.0 19,920.0 -
T3UUST»AAA0AIA0YY»ACY

2500(05| 0 | O pd22T2 GF221208F a2bTaz2UasAlacy 643,759.5 643,759.5 -
31 ATa0°

2510|105 | 1 | O |Unpwhwlnid 458,759.5 458,759.5 -
Ely[el)

2511|05| 1 | 1 [UnpwhwGntd 458,759.5 458,759.5 -
31 ATa0°
1. Unpwhwlmpint b L ywGhunwpwluwl 458,759.5 458,759.5 -
U=30A46U0
- TaUasY3t 1=3é63la0AlasYY»i 4213 458,759.5 458,759.5 -

2560/ 05| 6 | 0 |bAc3TI=3 UCc3T3IA¢C &30 E3Y40Al45Y (3IF 185,000.0 185,000.0 -
13»ACY 4831 T3Y40)
Eli[el)

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYaiAlaY (S 13eé»Acy 185,000.0 185,000.0 -
&3 1=Ya0)
31 AT40°
1. T3Y34 T3A310Y»AC NCUY&E6U ~ 185,000.0 185,000.0 -
a3NE3va00
- TaUasY3t 1=3é63la0AlasYY»A 4213 185,000.0 185,000.0 -

2600/06| 0 | O 0212620200 pEU2828a0A0a0U ©1 228,569.5 49,629.0 178,940.5

TagasU=2t 12e=20a0A0a000°8

31 AT40°

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAGY 1,000.0 1,000.0 -
Eli[el)

2611|106 | 1 | 1 |“YST3A3Y3ICY RCY3n=3napAlasy 1,000.0 1,000.0 -
31 AT40°
1. £YQY313U 1364006 Y»AC 03Y 1460 1,000.0 1,000.0 -
- 2t ISEé»f 4861 1,000.0 1,000.0 -

2660|106 | 6 | 0 | “YSI3A3Y3CY BCYSASBAEAIZY ~~ 14040V 3F 227,569.5 48,629.0 178,940.5
T36340AIacYY»i (3lF 136»ACY 4831 T3Y40)
Eli[el)

2661|06| 6 | 1 |7 YST3ABY3(CY RCY2A=ha0AI=Y —~ Talasy3t 227,569.5 48,629.0 178,940.5
1=3¢3{a0AlasYY»A (3l 13é»ACY a&3TT3Y40)
31 AT40°
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=t ATai0

= 3| oy ﬁ

iz % Ca b pwdhaltnh, fudptph L nwubph, hOswtu Gub = = AV YA

E = 2 3 = AYLI3U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALTSTY»AC 3YT3YAUY»AA &
1 (2|34 5 6 7 8 9

1. Pwquiwplwlwpwa 2GGpGpH hwpp 20,000.0 20,000.0 -
T3YCuY»AC i»A3Y4Aa - aiU
- b»YU»C * T=640l0Y»fiC AYASOCT Yafia - &iU 4251 20,000.0 20,000.0 -
a=N&=vail
2. Pwquiwplwlwpwl p6GpGph pbip 25,500.0 - 25,500.0
T3YCuY»AC i»A3YaAa - 46U
- b»YU»AC * BCYABAIAGYY»AC TSACT3E T»i=Vafa-aU | 5113 25,500.0 - 25,500.0
3. “3I13igy 73A3Muy»Ac 162,069.5 8,629.0 153,440.5
E303NA343A31Y»A¢ NCUY3Yana - 46U 40
a3Na3vaoU
- P»YU»AC ~ T2840l6Y»AC AYAS6CT Yana- aU 4251 8,629.0 8,629.0 -
a=N&=vail
- b»YU»AC * BCYABAIAGYY»AC TSACT3E I»i=Vana-al | 5113 138,440.5 - 138,440.5
- 2[f U»U»Y3Y»fi ~ 63A03 TanasUY»h 5129 15,000.0 - 15,000.0
4. Puqilwplwluwpwl 26Gptnh pwpblwnqdwl 20,000.0 20,000.0 -
3 BREST3Y0Y»A
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 20,000.0 20,000.0 -
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 50,696.0 50,696.0 -
3 ATasu

281008 | 1 | O |A3Y-EW¢ ~ 84ATC I363a0AI46YY»A 10,922.4 10,922.4 -
anco’

2811/08| 1 | 1 |[D3Y-&WC ~ eA4aRNC 1363(40Al46YY»h 10,922.4 10,922.4 -
3 ATasu
1. 884AT3ICY UCca63645UY»AC 5,638.7 5,638.7 -
I 3303178400
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 5,638.7 5,638.7 -
2. <wlbquinh qnuinplbph L qpnuwyghlbbph 5,283.7 5,283.7 -
1364006400 46 A3N&3Y4U
- P»YU»AC ~ T2840l6Y»AC AYAS36CT Yana- aU 4251 5,283.7 5,283.7 -
a=N&=vail

2820|108 | 2 | 0 |@B3T140A3CY [3E3a0AIA6Y Vi 39,773.6 39,773.6 -
anco’

2821|108 | 2 | 1 |AZI3AZYY»A 17,631.4 17,631.4 -
3 ATasu
1. TASI3[3Y3cY [363a0AladyY Yy 17,631.4 17,631.4 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 17,631.4 17,631.4 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY

282308 | 2 | 3 |Uwynyph wnbbn, wyntipbtp, Ysaunpnbbsn 7,760.1 7,760.1 -

=t ATai0
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= “laie»>WSCY TSES»AC -anT=63T3Y 136313/ 03y | 3 ATasu

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

c = g 3 0 Swfuubph LGN Y = ”

w2 3| E 2 pInLobnwnG 6wiuubiph nGunbuwghunwywa e = Jwpswywl pnigt | $nlnuwihl piniet

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &

1 (2|3 |4 5 6 7 8 9
1. D3U3Ya3lcY UBZTEGIAC ~ 3y31 A3U3Y6C 7,760.1 7,760.1
13303178400
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 7,760.1 7,760.1
(R=U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAA0AIATYY» 14,382.1 14,382.1
31 ATa0
1. DBZTE0A3ICY UCcAd3E400Y»AC 14,382.1 14,382.1
CA3T3Y3646U
- aliC  e3AUS TaRaUY»AC TSAOST3tacAlasY 4216 2,400.0 2,400.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 11,982.1 11,982.1

2900/09| 0 | O ToAabAlaU 1,099,833.2 1,099,833.2
31 ATa0

2910|109 | 1 | 0 |UBE318A406=313Y =~ T3AAZST3Y AVIN3Y461 983,820.0 983,820.0
TAA&oAl46Y
&RCo

2911|109 | 1 | 1 |U=E314R46=1T3Y TRA&AIATY 983,820.0 983,820.0
31 ATa0
1. USE318A46313Y 406406400 983,820.0 983,820.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 983,820.0 983,820.0
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

2950( 09 | 5 | 0 |A87 USTI3A13IY»AC 4136313/ - 140 116,013.2 116,013.2
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 116,013.2 116,013.2
31 ATa0
1. 2AT318A46313Y 138 1 C3A3140A146Y 116,013.2 116,013.2
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 116,013.2 116,013.2
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY

3000(10|0 | O €a0k=2E2T20 &42pT1a=20a0Alacy 80,318.2 80,318.2
31 ATa0

307010 | 7 | O | @46C3F313Y N3 7461 3ATAYA0Ala6YY»A (SIE 36,545.0 36,545.0
13»ACY 4831 T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3l SAwavasAlasyY»ni (S 36,545.0 36,545.0
13¢»ACY 83T T3Y40)
31 ATa0
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 5,000.0 5,000.0
E40C338»8 3YSE3NAT AYT3YCuY»AC
N3U3A Na603AT314A40AI3Y 13303 1»A8400
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“ [0 3ICY TPEE»AC -AnT=63T3Y 1363131 U3Y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyh dwiuubiph inlnbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8
- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 5,000.0 5,000.0
3. 840C3t38»6 BY3A3NAT AYT3YCUY»icy 23,720.0 23,720.0
VAYSI3Y " NCBSWSIC Qf»AcY S¢31046Ala0Y
- D3V YA 213y 3 YiasA»i 4269 3,000.0 3,000.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 19,870.0 19,870.0
- W Gwwunbbp pinuobihg 4729 850.0 850.0
4. 840C3E3E»6 3Y3E3N4T 3Y03Y6 7,825.0 7,825.0
c31640AI46Y

-D3WAT YA 213y 3 YidsA»i 4269 1,825.0 1,825.0
- W Gwwuinbbp pinuobihg 4729 6,000.0 6,000.0

309010 | 9 | O |846C3H313Y &33BT A&3Ya0Al46Y (3IF 43,773.2 43,773.2
13»ACY 4831 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3T3Y &SR T ASYAIAIATY (S 138»ACY 35,765.2 35,765.2
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 35,765.2 35,765.2

- 4Al40Y»40AI3Y 133031»A8400

(BT ICAZTT3I £C3%4740AI40YY»Fi)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 33,641.1 33,641.1
N3 T»E2Tx3AY»A
- WY»A-»wCT 1263[a0AIa5YY»f 4212 1,000.0 1,000.0
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 52.2 52.2
- T2AC 1363{a0AlasYY»h 4214 89.0 89.0
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 300.0 300.0
Yafia- &l &=N&=vail
- TASE»YIST3ICY YidsA»A -~ N=-ase 4261 366.2 366.2
- TASYEAAN T 3ICY YiaoA»A 4264 216.7 216.7
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 100.0 100.0

3092|10| 9 | 2 |€46C3EZT3Y &3/ W ASVAIAIRYA WA=3U31AT40 8,008.0 8,008.0
0A3Y13T 1363(40Al40YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 8,008.0 8,008.0
- 2483413 -A3T3Y I3Eé»f 4215 8,008.0 8,008.0
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N 97-U anarusy
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©5°120£ 2014 A12T20£ ~Uate*£ 128422120 21 taU _ 2UEU g28°8£0 P2TT20a00U°CSA" AeT ~Uate°T2UEU 12EE&°8K
Tasize=120 1 TUTee27M4£12120 28212819020
Uad Uadeg 12832120 pdx2UE g=2éai

(N=%=f 1A3UY»RAT)

= ol “laie»W=(CY TSES»AC -anT=63T3Y 136¢313/-03Y | 3 ATasu
= = 59 = pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb _ﬂ = AVISU»YA
o2 2 E ,:3 pInLpbnwihb dwiuutiph inbwnbuwghunwywb c = Junswywb pnigt | $nlnuyhl pyniet
LT 1363137 U3Y NALT3IV»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@g°UA T2Eé°5 2,763,733.6 2,572,724.6 191,009.0
2100|010 | 0 AU _p=20as6 ~UacUAL 2082040 453,974.4 442,865.4 11,109.0
T12&20asAlas00°s

31 ATa0

2110|101 | 1 | O |dA»Yé1gA = -8AT31CA USAUCYY»A, 436,834.5 429,225.5 7,609.0
A»T3I13Y I36373A400, yCY3Ve313Y
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGGGp,
wnunwphl hwpwpbpnipiniGGap
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -aflT31CiA USAUCYY»ii, S» r3T3Y 436,834.5 429,225.5 7,609.0
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 436,834.5 429,225.5 7,609.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 326,508.0 326,508.0 -
N3 T»E2Tx3AY»A
- a3 3rRalY»i, 1ASUST3Y EASEajeailY»h 4112 29,385.7 29,385.7 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 23,486.7 23,486.7 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 1,330.0 1,330.0 -
- T3AC 1363(a0AlasYY»fi 4214 10,455.0 10,455.0 -
- 2330413 -A3T3Y I2E6»i 4215 173.0 173.0 -
- 2w =2e3(03Y(3Y - 4fT140040UY»AC - TAT TSEéxf 4222 2,000.0 2,000.0 -
- 1 3AEST3Y 1363{a0Ala0YY»h 4231 150.0 150.0 -
- D2U=T30-a3(CY 1363{a0AlasYY»h 4232 120.0 120.0 -
- DO TSWTST3Y 1363{40Ala0YY»h 4234 2,036.8 2,036.8 -
- U»AT=31=06400a3T3Y 13Eéx»i 4237 2,000.0 2,000.0 -
- @2eY32.CU3T3Y 1363(a0AlasYY»fi 4241 1,672.0 1,672.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 5,700.0 5,700.0 -
Yafia- &l &=N&=vail
- Tii=e»YIST3ICY Viash»ii ~* N=- 406w 4261 4,382.4 4,382.4 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hGswtu Owb 3 = AVIS(sYA

EZ gl 3 0 Swhuubiph tGnBuwghtwYw = 7 0 piniot Gnwjht

wm = 2| E2 pinLetinwih( swiuubph tlntuwghinwywl c= Yunswyw pnigl | dnlnwyh pynegt
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- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 2,855.0 2,855.0 -
Yafia- &l &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 1,661.6 1,661.6 -
- TASYEAAN T 3ICY YiaoA»f 4264 5,700.0 5,700.0 -
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13¢»ACY 83T 13Y40)
3 ATasu
1. _ CUAGUY»A, NBI631CU40UY»A, 131 3A3YC 650.0 650.0 -
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YApwpbl pnnnplbn GEpyuywgllihu
E3NUBY I3 1x3Aa00Y»A
- A3AW31CH TX3AY»f 4823 650.0 650.0 -
2. Qnyph Gyunduwdp hpwyniGplbph 150.0 150.0 -
-A3Y6U3Y, -YINSTU3Y =
T0» I3 T T40AI3Y TA3U31A03Y N» 71
138731 ix3A460Y»A
- A3AW31CH TX3AY»f 4823 150.0 150.0 -
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anco’

2251|102 | 5 | 1 |43k waA3VasAlasy (3 1=2e»ACY 4831 13Y40) 1,000.0 1,000.0 -
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2800/08| 0 | O P20 £eT, @p2TaolA i Taal 17,796.1 17,796.1 -
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2951|109 | 5 | 1 [2AW31AR463T3Y 136 WC3A3TaoAlasY 42,457.4 39,457.4 3,000.0
31 ATa0
1. 2ZAT318A46313Y 1361 C3A3140AlaoY 42,457.4 39,457.4 3,000.0
-NUn}pqhnhLy[{bn_nz jgh[_lguﬁquNLpU p.!bmugUuJU 4511 39,457.4 39,457.4 -
(R=2U=IY0=UCY) T3%UST»AAAE0AIAYY»ACY
- 13AE213Y 63A0=T4RAUY»A 5122 3,000.0 - 3,000.0

3000(10|0 | O €a0k=2E2T20 a42pT14a=20a0Alacu 22,665.0 22,665.0 -
31 ATa0

307010 | 7 | O |@46C3F313Y N3 1461 SATAYAAla6YY»A (SIE 9,975.0 9,975.0 -
13»ACY 4831 T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3l SAwavasAlasyY»n (Sl 9,975.0 9,975.0 -
13¢»ACY 83T T3Y40)
31 ATa0
1. B46C3F38»6 3Y3E3NAT AYT3YCUY»AC 275.0 275.0 -
»A»E3Y»AC N3Y - 6 1C IB3U31»A846U0
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 275.0 275.0 -
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 1,500.0 1,500.0 -
E40C3F38»8 3Y3E3NAT AYT3YCuY»AC
N3U3A Na603AT3T4A40AI3Y 13303 1»A8400
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,500.0 1,500.0 -
3. 840C338»6 3YSA3NAT AY U 3YCUY»AcY 5,200.0 5,200.0 -
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T3UUST»AA40AIA0YY»ACY

3090(10| 9 | 0 | 846C3£3T13Y 3BT E3Y40Al40Y (3IF 12,690.0 12,690.0
13»ACY 4831 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3T3Y &3RTASYAIAIATY (S 138»ACY 9,674.0 9,674.0
3A3T1=2Y40)
31 ATa0
1. 46C33T3Y (- Ya0AIZY I363I40AI46YY»AC 9,674.0 9,674.0

- 4Al40Y»40AI3Y 133031»A840U0

(BT ICAZTT3I £C3%4(40AI40YY»Fi)
- 2RE=1a0Y»AC SRESTST3A0»A 4111 9,375.4 9,375.4
N3 T»E2Tx3AY»A
- T2AC 1363{a0AlasYY»h 4214 118.6 118.6
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 120.0 120.0
- T»Y6303(CY ~ NSYASICY eYY1G YiaoA»f 4267 60.0 60.0

3092|10| 9 | 2 |€46C3E3T3Y &3/ W ASVAAIRYA WA=3U31AT40 3,016.0 3,016.0
0A3Y13T 1363(40Al40YY»h (S 136»AcY
4A3T1=2Y40)
31 ATa0
2. 2640caiAI3Y 383N4T= - A46AI46Y 3,016.0 3,016.0
- 2330413 -A3T3Y I2E6»i 4215 3,016.0 3,016.0
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31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4iU 113,611.6 99,611.6 14,000.0
- 2RE=T1a0Y»AC SRESTST3A0»A 4111 79,001.0 79,001.0 -
N3 T»E2Tx3AY»A
- &3h -3 URAUY»A, 1ABUST3Y EASE4ieaiUY»h 4112 7,881.6 7,881.6 -
N=1adl Tx3AY»h
- WY»A-»wCT 1263[a0AIa5YY»f 4212 1,400.0 1,400.0 -
- Tal&sY3t 1=3é3{a0AlasyY»i 4213 60.0 60.0 -
- T2AC 1363{a0AlasYY»h 4214 2,000.0 2,000.0 -
- 2330413 -A3T3Y I2E6»i 4215 150.0 150.0 -
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